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1. Why two wheeler are not normally fitted with diesel engine?
a) Less efficiency b) More smoke c) High power
d) Less density e) Answer not known
g6iT BIEB FHHT ANsEThIHAIE 1056 aEH6T LIMBSSIILGSHE?
a) eobHs Spebr b) s Lews C) s Speir
d) &omobs SiLisd e) eflenL e\gflweedsmen
2. Pickup the correctly matched answer:

List | List 1l
A) CO(NH,), 1. Super phosphate
B) CaSO,.2H.,0 2. Urea
C) Ca(H,PO,), 3. Indian Saltpetre
D) KNO, 4. Gypsum
gflwng aunmsSLILLGeTen eflemLenw GSbaS®:

uciguieo | uciguieo 11
A) CO(NH,), 1. Ui umsGuL
B) CaSO,.2H.0 2. wyflwm
C) Ca(H,PO,), 3. @kdwesr smeorrL
D) KNO, 4. eisb

A B C D A B C D
a) 2 4 1 3 b) 4 3 2 1
c) 3 1 4 2 d 1 4 3 2

e) Answer not known / eflewL e\gflwefleosneo
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3.  Which spectroscopy is used in chemical examination of interstellar space?
a) Microwave Spectroscopy b) Infrared (IR) Spectroscopy
c) Raman Spectroscopy d) NMR Spectroscopy
e) Answer not known
eflevorauerflufletr Geud SpTMiIEHSES 6TES Slemevlbmensouiiied LWETLGSDS)
a) mieTTeTTTemey Slemeomeneoudwed b)) Sssdleuiy (IR) Siemeoomemeouuied
C) OmD6dT SieweoLomemeoufluied d) Siemésm s 85816 SieneowmeneoudiLied
e) eflenL e5flweficosmen
4. Which gas has been recently discovered in planet mars?
a) Hydrogen Sulphide b) Ammonia c) Methane
d) Ethane e) Answer not known
FbLsHe0 O\Feueunl BI&HS5H60 6bG UM SHevoTLMILILILILB6Terne]?
a) ewawL e F60mLEG b) SiGwnesflwm c) 185Cseir
d) r&Gsebr e) eflenL e\sflwefeosneo
5. ‘The uncertainty principle’ was proposed by
a) de Brogile b) Maxwell c) Thomson
d) Heisenberg e) Answer not known

‘Bemeoulieveond; H65Temid E\&MeTen&emL’ SHerflggeurt

a) e 9gnsed b) Gwseveeued C) smbgeir
d) eemissteLis e) eflenL O\gfweedsmen

6. Iron objects undergo rusting when exposedto ~ and
a) Oxygen and water b) Nitrogen and sulphur

c) Oxygen and hydrogen d) Chlorine and hydrogen e) Answer not known

S [BLDLIMEOITENT EILIM(H6ITSHET , 2 gefluL 65T &IHLILNeSHSTEDT.
a) Sp&dzgett HmID B b) ewmreett whmib Feouit
C) Sp&dg6t HMID EHHBLTE6H d) &Genmietr HMID ewamL” Te36sT

e) eflenL e5flweficosmen
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7. A mixture has no distinguishable boundary between its
components.
a) Homogeneous b) Heterogeneous c) Compound
d) Suspension e) Answer not known

&eoemeuuiledT GewWILILI OILIMHETSHEBHSHES CUMILIBESS5501QUl 6T60eme0&HCHTH Se0emed
a) emUULsSSTET b) ueliLgssmes C) G&mbb
d) esnmhae e) efenL e\sflwefleosneo

8. Water drop in space is spherical because in the absence/ reduced effects of
gravity, the forces governing the objects are all the same and therefore the
drop

a) attains a shape having the least amount of surface area.

b) attains a shape having the maximum amount of surface area.

c) attains a shape having the least volume.

d) attains a shape having the maximum volume.

e) Answer not known

eflssorareuerfludied Rl eflens Beve0THSHEDIT60/ GeDMEUTS S(BLILIGETEO, LLINhHeTSH6fet ameor
D615 G| elemFSHEBHLD FLDLDNS BHEHSMGI. Bs6vmev eflevreleuerflufed Biisgieflwinesg Gamermeauge)
ounPngl. Seueumn) Gsmerm aulgauld eT@LILIG w60, [Biiggier]

a) Wes Gewmeurest GMHUITLIL] C\STEHITL CUEISDS THEMS).

b) e Sidswner GLHUILIL OSTEIL ElaISMS THEMS).

C) UWI&s GEOMEUTET LI(HLDEH C\HTEWIL CUIREUSDS GIHSBDE).

d) wWe SiBsneT LHLET ST CUREISMS SHEDE,

e) efenL e\gflwefleosneo

9. If a simple pendulum with the mass of the bob as ‘M’ has a time period “T”,
then if in the same pendulum another bob with mass 2M replaces the original
bob. Now the time period is (It may be assumed that the string attached to
the bob has no mass)

M eretim Bewm \ametorL b Sesfley,gedlstr (simple pendulum) Sienevey Gmaib “T” eteor 2_siteng.
et Sigsevfley,sedeir 2aghH@&ewr® IHOLILIGeUSTE HgetT Bewm 2M Sy ommidma. sHELINE
SNF6T IHeWeLYCHILD 6T6tTETIONTS B(HHGSD? RMFNHGSEWIENL SMMHIGLD GewLp BemMWDHMSTSHG6U
&([BS60MLD)
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liIaAS ACADEMY]

T
a) 2T b) E c) T d) 7

e) Answer not known/sflenL aisflwsficosmen

10. If the diameter of the earth becomes two times its present value and its mass
remains unchanged then how would the weight of an object on the surface of
the earth be affected

a) Becomes half b) Becomes one-fourth

c) Becomes one-third d) Remains unaffected e) Answer not known
LpBludlest Al LD SBOLMIG HBSMSHSD GLTG DiG6IT EILIMIHETITEDLD LDIMTLDEd RIHSHBMS) 6T6vfle0
Lpulufledr GupurLifeo 2 eter QnHefledr sTewL eTeueumm CoumILIGEDESI?

a) und Méms b) mreider @ LESWTEDE

C) epeimied Qb LGSLTEDEg d) MM QmeEns) e) eflenL aswelicosneo

11. A particle executes Simple harmonic Motion The acceleration of the particle is

maximum

a) at extreme position

b) at mean position

c) midway between mean and extreme position
d) acceleration is same at all position

e) Answer not known

KB OLINHeT Sevlldiflens Qusss5H60 Sieneoaynid CUNGI, HH6iT AHHSHULEF LPB&HSLD
a) 6Fmewen Beneoufled HeHLSESLD

b) eoneM Beneouleo HewLs@&LD

C) EBTemed Bemeos@Ld saner Beneus@Lb BemLCW HmL&SLD
d) erebeom Beweouleyid HewLESLD

e) eflenL e5flweficosmen

12. Silicon is one of the best known semi conducting material. As its temperature
rises more, it becomes a better conductor. But the temperature at which the

silicon gets permanently damaged is
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SUnEaH.
dleflganett, fiDbe AFBUWILILILL SDDELSSS6r60 R6TTDNGLD. SiS6tT OeuLILIBEmed Sidslgensuileo
3ig)| fnbs SLSSUTBDGI. SpevTed @ ceuLiLBemeouieo Hedlsamett BIBSILDNS OFWEOIDLILIS).

a) 100°C b) 150°C c) 200°C d) 250°C
e) Answer not known/sflen. a\gfiwefleoemnen
13. Which of the following statements are correct?
In an isothermal process
A) The temperature of the gas remain constant
B) The gas does not take any heat from the surroundings
C) The internal energy of the gas remains constant
D) The pressure and volume of the gas remain constant
a) (B) and (C) are correct b) (C) and (D) are correct
c) (A) and (C) are correct d) (A) and (D) are correct e) Answer not known
EG OBMBESSLILLB6TeT Fapmisseiled ereneu Flimerene?
FLDEGULILI E\FUIEOLITL IQ6V,
A) b aumyefietr euILBEDeD LTOIGSTELD
B) 9iBs eumy sHniiumsSeolmia! 6mbs SeuliLapld erBLILEEmeD
C) eumyefleir 2 6ir SpHMEL LMPISSTSLD
D) eumwefieir SiW&SLd LHMID LITHLDEST LOTMISHSTGSLD
a) eabm (B) wbmib (C) sflwneeney b) sapmi (C)wpmid (D) sfwnesreme
c) eabm (A)wbmubd (C) sflwneseney d) semmi(A) wbmib (D) sflwnereney
e) efenL e\gflwefleosneo

14. Match List | with List Il correctly and select your answer using the codes given

below:
List | List Il
A) TIFR 1. Thiruvananthapuram
B) Space Physics Laboratory 2. Bengaluru
C) SHAR centre 3. Mumbai
D) ISRO satellite centre 4. Sriharikota
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SURESH

liaS

15.

16.

’

ACADEMY}

upwiedl g2 Liipwied || 2 et OLINBES, £GP OBTESHSLILILBeTem SNUIBSHm6Ts: O\&mesr® Fluimest

sflemLemis CsHES0:

A)
B)
C)
D)

uciguied |

TIFR

eflevoreleuerfl SuiDLNwied Spuieys FaLld

SHAR Bemeowib

ISROefietomareuerfl Gameit Beweoutid

A B C D
3 1 4 2
4 2 1 3

uciguieo ||

1. SoeuebsLmD

2. OLIMIGeETH(H
3. @pemL
4. ybanfaGamLm

A B C D
b) 1 2 3 4
d) 2 3 4 1

Answer not known / eflenL 6\gflwefedemen

Match the following elements with its Latin name:

A.
B.
C.
D.

Lead -
Antimony -
Tin -

Potassium -

Stibium
Plumbum
Kalium

Stannum

SCL OEHTBSHSLILLB6TET SEUIDRISHEDET AHSH6 05560 OILILITSBETTE QSMLALLIGSSOLD

A.

B
C.
D

6160 ¥

O 6tTI9LDETO -

Lp6dT -
. eumLrdlwib -

A B C D

1 3 2 4

2 1 4 3

etolL NuILD
RembuLb
SmedlwiLb
60GL 60TLD
A B C D
b) 1 2 3 4
d) 4 1 2 3

Answer not known / eflenL 6\gflwefedemen

According to Moseley’s law the frequency of the spectral line in X - ray spec-

trum varies as

a) Atomic number of the element

b) Square of atomic number of the element
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SURESH
c) Square root of atomic - number of element
d) Fourth power of the atomic number of the element

e) Answer not known

Gmevedl - ulleir el Slewevbmemeouledt SHBT\eusTTTEneTT OUMTBSSH X - &P erfiedr

SIeMEVLDITEMED 6TEUEUTM)| LDMMILIGHMSI?
a) sefbsSei Sigw) EETTEETILI EILIMIBSE!
b) sesfigSeit ey eretvremilsit Gb LTINS OLTEHSS!
C) selsdein Sew) eetoTemile auTés APEOSMmS OLTHSS
d) seflisdesr Siew) eretutemiies H6iE OLMHIEHS OLNGSE!
e) efenL e\gflwefleosneo
17. Which compound is used as smoke screen?
Lewa58emTuied LIWETLIGSSILGLD GEMDID 6157
a) PCl, b) PCI, c) PH, d) H,PO,
e) Answer not known / eflewL e\gflwefleosneo

18. Match the percentage with principal gases of atmosphere

A. Nitrogen 1. 0.934
B. Oxygen 2. 78.084
C. Argon 3. 20.946
D. Carbon dioxide 4. 0.0005
E. Hydrogen 5. 0.036
6U6TILDETITL 60SHET (LPSEITEMLD CUMLISSHEMETUILD, N6 FSH61F HaTeeMETILD EIIMTHSS!S.
A. ewmLez60r 1. 0.934
B. Spsedigett 2. 78.084
C. Spfismnest 3. 20.946
D. snmuest enL Sp&emen® 4. 0.0005
E. emamigeeir 5. 0.036
A B C D E A B C D E
a) 2 3 1 5 4 b) 3 4 5 2 1
c) 1 3 2 4 5 d 2 3 4 5 1

e) Answer not known / eflewL e\gflwefleosneo
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19. Which of the following pair of elements different from the other?
Spssnemid ewevor evflirmisefled mmILIL Gewewor SevflorhiseT eTemeu?
a) Li-Mg b) Na-K c) Ca-mg d) B-Al
e) Answer not known / eflenL 6\gflweficosmen
20. The aqueous solution of potassium chloride is
a) a weak electrolyte
b) a strong electrolyte
c) a non-electrolyte
d) initially weak and then become a strong electrolyte
e) Answer not known
Brfled &ewgss OUMLLTAWLD &SCemmenI® S6nIge0 e163TLIg)
a) eusdewid GELDHS L6TLGE
b) euedewio BlSHS WletTLGS
C) WestLGem Gevemed
d) SumbusBed euellenip GenmbE) LstTenT 6uedlenio WGHS LleTLG
e) eflenL e5flweficosmed
21. Which of the following compounds is called Baking Soda?
a) Sodium Carbonate b) Sodium bicarbonate
c) Potassium Carbonate d) Calcium Carbonate e) Answer not known
SLpaaeu0TL. GFTDSH60 SYBMS 2 LI 616t 618 HeWPSHSLILGSDE]?
a) Gemeuib &mTLGETL b) Gemewib ewu smTLGETL C) ewmLrlwib smiuGsT
d) ameodlwb emiLGesL e) efenL e\sfwefleosneo
22. The metal which melts at Human body temperature is
a) Gallium b) Indium c) Thallium
d) Boron e) Answer not known
eslls 2 L6v QeuliLBeneoudeo 2 &L 2 Geonsid 6187
a) smeSwib b) @evorneuib C) smedlwib
d) Gungnesr e) efenL e\gfweileosneo
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23.

24,

25.

Match correctly the following List 1 and List 2

List 1 List 2
A. Vanadium 1. N, and 0, Scavanger
B. Molybdenum 2. Brass and Bronze
C. Chromium 3. Radio valves and bulbs
D. Copper 4. Chrome plating

SLpaaevuTL. LIL'1gu 165160 1 LDHMILD 2 DpBwiemeussenand FfUMISHILI OLINHSSHIS.

UL leuieo 1 uLleuied 2
A. GeuGetiguild 1. N, wpmoub 0, Badwns
B. imedlingeutid 2. Ussemer DHMID 616U6TITS:60LD
C. &Gomdlwb 3.  Grieuilb 6uMedEYSEIT LDMMILD LIGOLSHEIT
D. smsgb 4. &GO (PeOMLD Lp&He0

A B C D A B C D
a) 1 4 3 2 b) 1 3 4 2
c) 4 1 2 3 d) 3 4 1 2

e) Answer not known / eflewL e\siflweflevsneo

Which of the following is used for crystal structure studies?

a) Infrared spectroscopy b) Raman spectroscopy

c) Atomic emission spectroscopy d) X-ray diffraction

e) Answer not known

O Lgssdei (Ccrystal) Siemwlienuls ubn Osfbeg OsTaTer 2 LGWNSLILBSSID WeDD
a) Sssdeuliy Bowmeneouduisd b) @ombesr Boiomemeoudwied

C) ey eueliui® Boireneoudiied d) X-s8i eflefiby eflewerey

e) efenL e\gflwefleosneo

Identify the incorrect pair

I.  Washing Soda - Na,CO,

Il. Bleaching powder - Cao

lll. Plaster of paris - CasO,. HO
IV. Baking soda - NaHCO,
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SURESH’

liIaAS ACADEMY]

Seunest Ggmeemu S6voTLMl&

l.  &evemen GamLm - Na,COo,

Il.  Fevemeusgmeir - Cao

. unfeio enmba - (Cas0o,. HO

IV. semwwed GamLm - NaHCO,

a) | b) I c) |l d) Iv

e) Answer not known / eflenL 6\5flweficosmen

26. Match the following and choose the correct answer:

Type Symbol of the element
A. Alkali earth metal 1. Rb
B. Radioactive element 2. As
C. Alkali metal 3. Mg
D. Metalloid 4. Fr

SLpanewnTLeuDenn OLNhHSS Filwiner sfenLenw CSbHES®:

EUWS FevfingHesr SMui®
A. smgwsetor ©_GeonsLD 1. Rb
B. sfféss sefiob 2. As
C. &y 2 Geonsid 3. Mg
D. 2 Geonsls Gumed 4. Fr

A B C D A B C D
a) 2 1 4 3 b) 1 2 3 4
c) 4 3 2 1 d 3 4 1 2

e) Answer not known / eflenL 6\gflweficosmen

27. The 17" group Elements Fluorine, Chlorine, Bromine, lodine and Astatine these
are collectively known as Halogens. It is derived from two Greek words, Halo

and Gens meaning.
a) Gun - Producer b) Panit - Producer c) Chemical-Producer

d) Salt - producer e) Answer not known
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28.

29.

SURSSML
17 eug) e\ gn@Sullsgisiten SLjeerpfleir, @Gemmledr, LGTmUSedr, HEWIMIQEN DMHMID SH6NVL 6L 65T
OpBwienT BaNEVREITSH6IT 61607 JHWP&ESLILIBEDS. & Gameon HMID 61236360 6l6dTD HBI&S
eSS ensufedlhb&l QIIMLILILL W6 — SH65T EIIMIHET

a) sILUNES - 2 HEUTEGEU6T b) euettremliy e - © meunsEeues
C) GauBLIOIN®BET - 2 [HEUTS:S6U6TT d) 2 lewu - 2 meansgeue
e) efenL e\gflwefleosneo

On rear wheel drive cars, with the engine in front it is a common practice to
weigh down the trunk in order to increase safety, when driving on -

a) lcy roads b) Muddy roads c) Hill roads

d) Plane roads e) Answer not known

WP6ITLIGS SUIHSTLD 6\&mevorL L6 5650 BWwisE siserfled LTGISTLILDESTES &6001(H S6WLD GeMMLILIS)
665 LIGSUled QLBaISHSNs-

a) uesfésiig b) Gsbmis smewevss

C) LDENEVE FTEDEOGHET d) swser smewevEsT

e) efenL e\sflwefleosneo

Match the following:

Actinide element Atomic number
A. Plutonium 1. 102
B. Curium 2. 100
C. Fermium 3. 96
D. Nobelium 4. 94

gflwuns OLnmBSSIs:

Db &M (B G| 676501
A. yesprGLmesfluid 1. 102
B. &uyflwib 2. 100
C. ewmduib 3. 96
D. GmmieSuwib 4. 94
A B C D A B C D
a) 1 2 3 4 b) 3 4 1 2
c) 3 4 2 1 d 4 3 2 1

e) Answer not known / eflewL e\gflwefleosneo
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30. TV antenna elements are made up of
a) aluminium b) copper c) tin
d) zinc e) Answer not known
19.611l. SHETOTL 60T QVFUIWILI LILIGSTLIBEUS)
a) Seyuiesfluib b) smmb C) 16t
d) sgsmETeD e) efenL e\gflwefleosneo
31. A form of non-metal which has high ductility is
a) nitrogen b) oxygen c) chlorine
d) carbon e) Answer not known
sLIWING BEBLD F6ETEHLDEMU LIDHMIETOT HBEOTSHLD 6157
a) ewmLIER6H b) Spserdegesr c) &Genmletr
d) amiuesr e) efevL e\sfwefeosneo
32. The rays markedly increasing Shelf-life of fresh fruits are
a) Xrays b) Gamma rays c) beta rays
d) Alpha rays e) Answer not known
Liprseflest &L [Benes &Meusemss SMILLILSS5885 Sereiled P HlEsLD sSigemmersne
a) Xadiser b) amon sdiser c) Suinm sdisen
d) Speour adiser e) efevL e\sfwefleosneo

33. Match the following

A. Triads 1. Newlands

B. Alkali metal 2. Calcium

C. Law of octaves 3. Henry Moseley
D. Alkaline earth metal 4. Sodium

E. Modern Periodic Law 5. Dobereiner
OIMHSSIS

A. wemb el 1. Bupeonmbg

B. &nmp 2 _Geonsib 2. &meodlub

C. emetoros Gamun® 3. 6eamem) GmevGeo
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34.

35.

36.

37.

D. &y wetor 2 GeonsLd 4. Gzmewib
E. meleor Spauissen efld 5. Lmunesfi

A B C D E A B C D E
a) 2 1 5 4 3 b) 4 5 1 2 3
c) 5 4 1 2 3 d 2 5 1 4 3

e) Answer not known / eflewL e\gflwefleosneo

Which one of the following compounds is not formed?

Netreugpd GaMbmiserfled 2 qheuns eumiiLifleveons G 6187

a) XeOF, b) XeO, c) XeF, d) NeF,

e) Answer not known / eflewL e\gflwefleosneo

Chemical formula of rust is

SlmefledT eumuLILIT®

a) FeO.xHO b) FeO,.xH,0 c) Fe,0,xHO d) FeO

e) Answer not known / eflewL e\gflwefledsneo

Thermal Pollution in water resource mainly reduce the concentration of
a) pH b) Dissolved oxygen c) Acidity

d) Alkalinity e) Answer not known

Q\LILI LDMLIMLIQEST SMI6wILDNs [HiT [Bemevaserfied ereuniest OFmley P SlaTefled GewMU|LD?
a) pH b) DO @ewnms psedest) C) Sideoseireno
d) smogseiteno e) eflenL e\gfweedsmen

Specific Experiments:

1. Blue Litmus paper is dipped into hydrochloric acid and it is changed into
Red colour

2. Blue Litmus paper is dipped into oxalic acid and it is changed into Red
colour

3. Blue Litmus paper is dipped into sulfuric acid and it is changed into Red
colour

General Law: Acid is turned into blue litmus red. It is called Reason-
ing.
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38.

39.

40.

a) Deductive b) Critical

d) Inductive e) Answer not known

U uflGsnsemestse:

c) Everyday

1. [Bev edlLibev smewer smamLCom GGernifle: Sievs5H60 HENEITSSTEL, G| feulILins IMILD

2. [Bev 60l D6 SiTemer Sp&&Tells SHLSle05Se0 [HENEITSSITEL, G| HeulILins IMILD

3. [Beo 60lLev Hrewem &HHS SNOSHD HOOTSSHTEL, G Seulluns LIMID.

JON:;| OHUIBSMSHE0 6681 HEMLPSSLILIBLD.
a) uessn b) empamemID
d) estessn e) eflenL e\gfweedsmen

The pH of 0.1M NaOH is

0.1M NaOH -etr pH wdiyy

a) 1 b) 0.1 c) 14
e) Answer not known / eflenL eisiflweficosmen

Match the following:

A. Lemon 1. Tartaric acid
B. Apple 2. Citric acid
C. Grape 3. Oxalic acid
D. Tomato 4. Malic acid
SLPSTETTLEUDEDD EIIMBSSIS.
A. eayflsens 1. vmiifis Siufleod
B. opuder 2. dufls Sudeod
C. Smmens 3.  5aMeNE AueoLd
D. ssanefl 4. wnedls Jisleod

A B C D A
a) 2 1 3 4 b) 2
c) 2 4 1 3 d 2

Which is a Lewis base?
LetTeuheuetTOUDIN6D 618 QU6 &MILD?
a) B,H, b) NH, c) LiAIH,

e) Answer not known / eflenL 6\5flweficosmen

C) SenbGHTMID

d) 13

d) AH,
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41.

42.

43.

The isoelectric point of an amino acid is the

a) pH at which no net migration occurs during electrophoresis
b) pH at which all the functional groups are protonate

c) Same as the PK_for that acid

d) all of the above

e) Answer not known

SIBCeoTT SHdleoSHe0 2_sitearm g2 e16v&L Mg LieiTerfl

a) Wlettapenens; seuigdufest Gung PH-60 eibs maTaD ehLBeU B606H60
b) pH Siwenss eener Oswed OFTGSEHEHD LGIM L6 ehmbd OILmID
C) Sdeogdeir pKa-6r B @IS BHSSLD

d) Sevesgid

e) efenL e\gflwefleosneo

Arrange the salt dissolved in the sea water in descending order:
a) Chloride, Sodium, Sulphate, Magnesium

b) Sodium, Sulphate, Magnesium, Chloride

c) Magnesium, Sodium, Sulphate, Chloride

d) Sulphate, Magnesium, Sodium, Chloride

e) Answer not known

sLev [Bifled semnbgeTer 2 _LiLseneT i@ auflensuled auflensLBssis

a) &Camenn®, GFmeuib, F60GUL, HIDSETEAWLILD

b) Gsmeuwib, s60GUL, A&efAwD, GGarmenr®

C) ewsetdwid, Gsmuib, F6oGUL, &SeTmenI®

d) &eoGuL, esetAwib, Gsmeuwib, &SeTnenr®

e) efenL e\gflwefleosneo

Which salt is used in Test Tube funnel experiment?

a) Pottasium Chloride b) Sodium bi Carbonate c¢) Sodium carbonate

d) Sodium chloride e) Answer not known
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SURESH’

OpIEYEESLPEDL LI6oTed Spilefled LIeTTLGSHSLILIBLD 2 Ll |
a) ewmLmdwb &Semmenr® b) Gemewib ewu SmTLGETL C) Gsmouib &mTLGeTL
d) Gemeuwib @&Gemenn® e) eflenL e\gflwesdsmen

44. Two coils are placed close to each other. The mutual inductance of the pair of
coils depends upon

a) the materials of wires of the coils

b) the currents in the two coils

c) the rates at which currents are changing in the two coils
d) relative position and orientation of the two coils.

e) Answer not known

B6001(B HLDLI S (HETEHET RETMISHESHTEIN)] SH(HE60 eWEUSSLILILB6iTorng). BIetor® sLDLI S(HETSHEHSHS

SewLCw 2_euorLn@Ld Lfibmbm) LESTHTEMIL 6D eTensHs S HEHSD?
a) &@ET OFLIWLILLL 2 GeonsSH6i S6enLOEDLL

b) &mefleo LMD WEHTGeIL L S0

C) Buewoi® smerfled LMD LTS LESET SlaTemen LDIHMILD CLITG)
d) amefleir amiy BeneosmwL|D, DigesT FMI6Y [BEPEOHWILID OLIMESS
e) eflenL e5fluefieoemen

45. Match List | with List Il correctly

List - | (Solution) List - Il (pH Value)
A. Blood 1. 6.5

B. Urine 2. 7.3-7.5

C. Vinegar 3. 5.5-7.5

D. Milk 4. 2.4-3.4
OWINBSE15

L puied - |(semmasd) uriewied - |l(wdiiy)
A. e®d 1 6.5

B. dAmibir 2. 7.3-75

C. eflesflai 3. 5.5-7.5

D. wumed 4. 2.4-3.4
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46.

47.

48.

A B C D A B C D
a) 2 3 4 1 by 2 4 1 3
4 2 3 1 d 3 1 4 2

e) Answer not known / eflewL e\gflwefleosneo

Which of the following statements about ‘NaHCO," is TRUE?

I. Itis an ingredient in antacid

II. It is used to make cakes and bread soft and spongy

[ll. It is used in softening hard water

a) landll b) landlll c) Iland Il
d) Il only e) Answer not known

NaHCO, ubn) Sipseton. sapmisefled sfiwnesne eremeu?

l. @z Suseo BeBuled 2 6o h LIGSLIGWLIMBET

Il. Sz Cas, QMipsHeneT CILDEITEHLOWINS LOMHMISMS]

. @& syenBenr 6\weitesfina wAHOLILILIETLESDS

a) | wpmid Il b) | whmb Il c) Il whmb Il
d) 1l wrEb e) eflenL e\sflweieosneo

The pH of a soft drink is 3 and that of milk is 7. How many times greater is the
concentration of H.O" in soft drink than in milk?

a) 4 times b) 40 times c) 1,000 times
d) 10,000 times e) Answer not known

om eefiiunegdesr PH wdiy 3 wpmib unedlesr pH iy 7 aefled @efiiunerggeo H O
Slwesfl &6y LimemevsiilL. 615,56M60T LDLMIG HSSHLDNSH RHSHESLD?

a) 4 LR b) 40 wLhus c) 1,000 wLiis
d) 10,000 wLie e) efevL e\sflwefeosneo
Match List | with List Il

List | List Il
A) HCI 1. Weak acid
B) NaOH 2. Strong acid
C) Ca(OH), 3. Strong base
D) CH,COOH 4. Weak base
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Select the correct answer using the codes given below.

uieuied| g2 Litipwied |1 2 L6t OWnpgais.

uciguieol ucipuied| |
A) HCI 1. euellemid GBS SiLbleoLD
B) NaOH 2. euedlemid LBG DiLleold
C) Ca(OH), 3. euedlemip 181G SHMLD
D) CH,COOH 4. euedlemip GEOMES SMILD

SC O&TB&SLILLB6TeT GMUIBSHmeTs: 6\amer® srfwimer eflenLenwls Coihe\sB&SLD

A B C D A B C D
a)2 3 4 1 by 4 2 1 3
03 4 1 2 d 4 3 2 1

e) Answer not known / eflenL 6\5flweficosmen

49. Arrange the following in increasing order of their pH values:

I.  Human Blood Il. Stomach acid

[ll. Pure water IV. Milk

a) I, 1, IVandl b) 1,1, 1lland IV c) LIV, Il and |
d) I, I, IVandll e) Answer not known

SpdanemrLieneugseneat Heupmlsst PH wdliyseflesr SieliLienLuied emeuflemauilsd SiewbdaeaD:

l.  wefls GBS Il. Sempliemu Sideod

. gmu B V. umed

a) I, 1, IV whob | b) 11, I, Il whmbd 1V c) I, IV, lll whmb |
d) I, I, 1V whob Il e) eflenL e\gflweedsmen

50. The acidity of the rain water is measured by the scale
a) °C b) dB c) pH d) cm
e) Answer not known
ewLp [Hil6sT SBE0SS6oTEMIDEMILI eSS LILILIGTLIGLD SieTeme
a) °C b) dB c) pH d) as.18
e) eflenL e5flweficosmen
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51. In vaccum all objects fall with
a) same acceleration and heavy bodies reach ground first
b) same acceleration and reach the ground at the same time
c) different acceleration and reach the ground at different time
d) different acceleration and heavy bodies reach ground first
e) Answer not known
61660 EIIM(BEITSHEBLD SeuDMILSH60 eflpd CLIN)
a) WEssD @CT Jlemeunsab, BoD LGHS OIINHLEHET SOTOW ALPSESIEd H1GMTBLD
b) wEssD @G SeTausayD, 6T6060M EIINIHLSHEHLD QCT GBEI5He0 HemIenl O\STBLD
C) WEEsD eusuGamnaalbd ceusiGamn ChIsEe Smrenwl \GTBLD
d) wEssD OasIGaDTSEaD BnD GHES OILTHLEST LPSETlsd Senmemw \GTELD
e) efenL e\gflwefleosneo

52. The concept which states that “An acid is a substance which can accept elec-

trons”
a) Arrhenius concept b) Lowry and Bronsted concept
c) Lewis concept d)  Lulx-Flood concept e) Answer not known

QI SLBEOLD ETEUTLILIBEUS] 6T6VSLTMEIEHENET 61MS Sarlpul (H GFITLDLD 616018 Samieus)

a) Smafeflwev Osnetens  b)  Gever HmID LigmeiTevEILL. s TeTEnS

C) eymudsiv OsT6TENS d) evgev-Lient OsmeTens e) efenL Ogwelicosneo
53. 2KOH +H. SO, —» K SO, +2H.,0

The equivalent mass of the salt, K.SO, is

a) Equal to its molar mass b) Twice its molar mass

c) Half of its Molar mass d) Thrice its molar mass

e) Answer not known

2KOH + H, SO, - K.SO, +2H.0

K,SO, 2 Ludetr s1omenr Bewm

a) Sigetr Gmeonit BEOMEESS SLOD b) Sigeir Gomeom Benmemws GuImed G LOLHIG

C) Sisetr Gomeonit Benpufed Limd d) Sigetr Gmeontt Benmenw GUITED EPEITM) LDLIHIG

e) efenL e\gflwefleosneo
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54.

55.

56.

Match the following:

Acid-base titration Suitable indicator
A. HCl Vs NaOH Phenolphthalein
B. HCI Vs Na,CO, No suitable indicator

C. CH,COOH Vs NH,OH Both methyl orange and phenolphthalein

oW N

D. Oxalic acid Vs NaoH Methyl orange

SLDSMETTLIDEDD CWIMBSSIS:

SiSleo-&MT FILD LIWesTUGLD [BOMISTLLR LITT&S60
A. HCI Vs NaOH 1. LevrmedssLigeSett
B. HCI Vs Na,CO, 2. 6Ths BORISLIQUID G606neD
C. CH,COOH Vs NH,OH 3. 615PE0 DyIEhs: LHMID LN6VTTEOSLIG6560T
D. opsgedls Susleod Vs NaoH 4. 6IDESBHEO SHIEhs
A B C D A B C D
a) 3 4 2 1 b) 3 2 4 1
c) 4 2 3 1 d 4 3 2 1

e) Answer not known / eflenL 6\5flweficosmen

Gold will dissolve only in

a) Nitric acid b) Sulphuric acid c) Hydrochloric acid
d) Aquaregia e) Answer not known

G&HMEVL (HRIGLD) ............ 60 LDL(BLD SH6mIU|LD.

a) eomLfs Sideold b) geosuLpfis Ssleod

C) ewamCrnaGarmis Sifeold d) Qo Smmeusid e) eflenL OsMwelicosneo

Magnesium Hydroxide is used as a medicine for curing

a) Eyelotion b) Stomach disorder c) To remove stains in clothes
d) Head ache e) Answer not known

CID&EUTHALILD eWEUDLITEENN® 6TNS5E GSWILILIBSSID LDBHESTE LILISTLGSDS!?

a) & LEHSTE D)  aulbhn 2 LTEMEsHEEEE C) glswlseten 2_dror sepmacmer B

d) seneoeusd e) efenL e\sflwefleosneo
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SURESH,
57. The salt formed by the combination of the mixture of solutions of two simple
salts and which loss identity of the salts from which it is formed.

a) Complex salt b) Double salt c) Mohr’s salt
d) Alkali salt e) Answer not known

8 slefli 2_11|5560I856086m6T S60Mh& HeMLESGLD 2_LILIN6tTg), eTH60lhhg 2 (HeuTsSSLILLLGST,
SisveLiL|sefletr seflsgetTempeni S&EnE. S5HIC6

a) Slemevorey 2 L1 b) @menL 211y C) Gwmi 2 1y
d) anmreiy e) eflenL e\ fwesdsmen
57. Arrange the following in the order of increasing solubility in water
etteugpLd GalTbmisener Seubnilesr Brfled sempuib Smevfletr exmieurflensuied s
i) NaHCO, ii) KHCO, iii) Mg(HCO,), iv) Ca(HCO,),
a) (iv) < (iii) < (ii) < (i) b) (i) < (ii) < (iii) < (iv) c) (i) < (iii) < (i) < (iv)
d) (iii) < (i) < (iv) < (ii) e) Answer not known /eflenL aiglweficosneo
58. Tincture of iodine is
a) lodine b) lodine and iodoform
c) lodine and potassium iodide d) lodoform
e) Answer not known
IQEBET SbL1 SHEUIMIQEHT ET6HTLIS|
a) SHGwmgetr b) SIGwmeesL 61 SHGwm_LIMbD
C) SICwmeeIL6dr M LTwib HCWTenL®B d) SIGwmumb
e) efenL e\gflwefleosneo
59. 3:1ratio of concentrated acidsof s used for cleaning and refining gold

3 : 1 a6t eflBHTEFMISHE0 2 6TaT LT SSORIFZET _ ShiSHSHDS &FHSHD C1FWILILD,
535 MssaIb LWeTLUGSDS.

a) HCI&HNO, b) HCI&HSO, ) HNO,&HSO, d) HNO, & HCl
e) Answer not known/sflenLaisfwiefsoeneo

60. SiO, is
a) an acidic oxide b) a basic oxide c) a neutral oxide

d) an amphoteric oxide e) Answer not known
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61.

SiO, etetruig

a) @m e SH&mEB b) e st Sp&eams® C) @ BEGBMmEO Sp&mE®
d) em rflwey Sp&ams® e) eflenL e\gfwesdsmen

Which of the following is a basic salt?

LietTau(heueTTOUDMIET 618 HNTSSHEEWD CUTIIHS 2_LIL|?

a) PbS b) PbCO, c) PbSO, d) 2PbCO,.Pb(OH),

e) Answer not known / eflenL 6\5flweficosmen

62. Turmeric is used as a

63.

64.

a) Synthetic Indicator b) Natural Indicator c) Indicator
d) None of these e) Answer not known

2_evore) SWIMHSSL LWESTLIBLD LDEhFETT6oS) Sp& LWETLIGSMS).

a) eeswbhens BomisTLIY b) Quibens Borusm C) Bomsy
d) eseub Gsoemeo e) efenL e\gflwefleosneo

Acid in plants and animals are organic acids. Where as Acids in rocks and min-

erals are
a) Inorganic acids b) Organic acids c) weak acid
d) strong acid e) Answer not known

STaIImis6T HmID efeom@sefleo 2 eTeremey &b SieomissT; LTemMsafey D, sesflbL

OuMBeTHerflegIld SHHGLD SiLSlevLd

a) sefi Sideold b) &l Siwdeold

C) euedlemip GewMES seod d)  euellemip Beomkg Jieod  €) eflewL O\ MweNedsnen
The pH of a fruit juice is 5.6. If you add slaked lime to this juice, its pH

a) Decrease b) Neutral c) Increase

d) None of these e) Answer not known

@ upgamilesr PH i 5.6. @seniLeir [Bigs setrevomibl| Gaia@D Gug @g et PH S

a) &Enéns) b) mGBsweo C) Sidswnémng)

d) eseub Gsoemeo e) eflenL e\5fwefleosneo
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65. The term (F - P) in the equation of motion represents the
a) Momentum acting on the system
b) Total force acting on the system
c) Total force acting on the system to keep the system in equilbrium
d) Total force which keeps the system in unstable equilibrium
e) Answer not known
QwIN@beTaeT Bwiss sweimiged, (F. - P) erstrug &M&ADG
a) lewwliy B8 OEWOLED WBSSLD
b) Siewwiiy g OEwWeEOLIEGLD 61oNgs eflens
C) SiemioLienL sBmeoUTed 6USS IS CISTETEHLD HIDMES 6Mena
d) SiemwLienu swesflédeon Beweoudeb meuSEISH OSTETEHLD HLDNSS 6lens
e) efenL e\sflwefleosneo
66. An element which is always lustrous, malleable and ductile
a) non-metal b) metal c) metalloid
d) gas e) Answer not known
eTLIOWIMLP&GICLD LIGTLIGTLILITEDT, suemeTwisiaaloul, erflihd SetTemlbulsmerm Sevfloid erg) ?
a) SiIGeonsD b) 2 Geonsid C) o _GeonslIBUTelssiT
d) emyssenr e) efenL e\sfwefleosneo

67. A compound containing one atom of carbon and two atoms of oxygen is

a) Sulphur b) Chlorine c) Nitrogen
d) Carbondioxide e) Answer not known
BB ST W) BTTH Sh&HEIZR60T ) &HE6IT 61&T6vorL. GSTLDLD
a) &eour b) @Gemsir C) ewmLIER6H
d) smiuesTenL Sp&HDED e) eflenL e\gfweedsmen
68. The basicity of pyrophosphorous acid (H,P,0,) is
souGguTeLgen Sidleogde (H,P O,) snoggieud
a) 4 b) 2 c) 3 d) 5

e) Answer not known / eflewL e\gflwefleosneo
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69.

70.

71.

72.

73.

Permanganate ion changes to in acidic medium

Slufleo 2em_55H60 EWITDMMHEISEETL. Huleuflimeng) Geueunm) IMHDLDEDL SME.

a) MnO* b) Mn?* c) Mn3* d) MnO,
e) Answer not known / eflenL 6\5flweficosmen

The pH of an aqueous solution is Zero. The solution is

a) slightly acidic b) strongly acidic c) neutral

d) basic e) Answer not known

@ Brilw senggedlett PH &I Lpgefuib, eevlled Jibs HenIFed

a) &NseTe) JOEVSSETEDLD H\ETETOTLE) b) Sigs SeosseiTend OETeToILS)
C) mEBEWES SETEHLD EIGTEIILE) d) &nms settemip Qs

e) efenL e5flweficosmen

Which of the following is correct regarding steel?

a) lron with > 0.5% carbon b) lron with < 0.25% carbon
c) Iron with 0.25 - 2% carbon d) Iron with 2-4.5% carbon
e) Answer not known

Sp&sTemID sanmisefed ersdemerll OLIMMISSIDL g6 615 Slline sabm|?

a) @mwyLesr > 0.5% amiuetr b) @mwbyLeir < 0.25% amiuesr

c) @myLesr 0.25 - 2% snruest d) @mwbyresr 2-4.5% amiuetr

e) eflenL e5flwelieoemen

Heat of combusion of Hydrogen per unit weight is how many times more than
that of hydrocarbon fuel?

Q0 GOILILILL 6TemL H0GS6IT emaUnL T2360T 6TfBemevwimed SemL&ELD SGULILILD enaumL GITSMTTLIEN6TT

6flL e15,56W6DT IDLMIG HPHSHLD?

a) 2.5 times/Lii® b) 3.5 times/wLiiG c) 4.5 times/wLiig
d) 1.5 times/wLiig e) Answer not known / eflewL aigflweficosmneo

An example of a fumigant is

a) DDT b) Malathion c) Methoxychlor

d) p-dichlorobenzene e) Answer not known
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eurmu| [Bemeouded Q\gwieoL|fluyd Lp&flsasmeosdlenwt GHILILILa|D

a) DDT b)  neogBwimesr C) S&snad &Germi

d) p-ewL&GennGom euetifesr  €)  eflenL OB Awefleveneo
74. Terminal velocity is related to

a) viscosity b) Surface tension c) Circular motion

d) Linera motion e) Answer not known
WM SnFGeusLd 6TEITLIS) SLPSHEWIL 6ICHTH CISMLITLIEMLUISI?

a) undwed efens b) umiy elews C) eawLiLnems SussD

d) GmisEGsM (G Qwesb e) eflenL e\gfweedsmen

75. Gypsum is added to the cement for
a) fast setting b) delayed setting c) hardening
d) making paste e) Answer not known
dlewpevoriged IFD CFTHSLILIBOUSDSTE STT6TTLD OHGSLD.
a) eflewaus: C\GLIRESETEDLDWIEDL b) QsLeLED Settenibeni STDSLILGSS
C) &SleuIDN&Es d) sevemelsml 2_Haunss
e) efenL e\gflwefleosneo

76. The metals which is a liquid at room temperature
a) Chlorine b) Sulphur c) Mercury
d) Silver e) Answer not known

SismpeeiliLBeneoudeo Hreupns 2_sitem 2 G0N

a) &Gemmedr b) &eour C) ungpsb
d) eesief e) efevL e\sfwefleosneo
77. Dryiceis
a) liquid nitrogen b) purified ice
c) solid carbon dioxide d) supercooled ice e) Answer not known

2_evlifbS LieoflsaLIQ 6T63TLIS)
a) Soeu enmLIER6H b) sgsb aswwinrL LellsaLie
C) Setorp EmiLe oL AHpHws® d) Sids el LellsaLie e) eflenL a5 flweficosmen
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78.

79.

Match List | with List Il correctly and select the answer using the codes given
below :

List | List Il

Lead tetraethyl Global warming

Antiknocking agent

Rocket fuel

A

B. Liquid hydrogen

C. Hydrogen peroxide
D. Carbon dioxide - Bleaching agent

uwied | 23 Liciguisd |1 2 L ett OLInpGd, £GL O\BMT@SELILLBsTaT GMUIBSHM6TS C\&Mesur® &iluimest

sflemLemwis CsHES®.

uciguieo | uciguieo ||
A. 6oL eLLgT eigHe0 - 2 60&lD AeUILIDIGED
B. Sney ewamr meeir - TP HN&H& SHrevof]
C. ewamigmer OMIMsmen® -  OMS6&L ermflOwnpelt
D. a&nmuett emL Sh&emen® - 6\6UEHHGSLD HMyevofl

A B C D A B C D
a) 2 1 3 4 b) 1 3 2 4
c) 2 4 3 1 d) 2 3 4 1

e) Answer not known / eflenL 6\gflweficosmen

Which of the following is not correct?

Mixing of alcohol with petrol

a) Saves foreign exchange b) Is ecofriendly

c) Supports sugar industry d) Prevents the possibility of adulteration
e) Answer not known

SLpaevuTLeubHMET 618 Frilicoen?

QLI GITEYIL 65T SHEDSHEUDITENED SHEOLILISTED

a) Sietresilw O\Feomeuesll WESLTENE b) sbmiiym sped CubLGSDE

C) &NGHMI pewed OSTHNIGES 2 saudng d) solLLGmS HLELLESSHIBDE

e) eflenL e5flweficosmed
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80. The calorific value of the fuel is of the order
a) coal> peat> lignite > dried wood
b) peat> lignite > coal> dried wood
c) lignite>peat>coal>dried wood
d) coal> lignite> peat> dried wood
e) Answer not known
erfloungpeflett sGeonfl DPLIL| eurflens
a) BevsaM > 18 > Lepliy Beosa > 2 eoiihg LD
b) 8 > uwtiy Beossf > Beossi > 2 eorikg LD
C) uwly Beosad > 150 > Beossf > 2 eorirhs LogLb
d) Beosaf > uwliy Beosaf > 15 > 2 ek WO
e) efenL e\gflwefleosneo

81. The radiation with highest energy is

a) X-ray b) UV-ray

d) Visible light e) Answer not known

iP5 SpHmeYL6iT AeThIGLD SBiehss: —----—- Sb&LD.

a) edev s b) uym omsns s c)
d) senemm @erf e) efevL e\sflwefleosneo

82. Which is known as syn gas?

a) Marsh gas b) Water gas c)
d) Coal gas e) Answer not known

QBNGLIL| 6uL| eT60TM)| HEDLPSSLILIBEUS) 61517
a) &gy Beo eumy b) B emy c)
d) Beosa eumy e) efevL e\gflwefleosneo

83. Producer gas is a mixture of

c) IR-ray

Sssdlall &P

Producer gas

2 MLSS euru

2_HuSS U] er6oTLIS), LDMHMLD SpBWeUMNI6IT HE0MEULITESLD.

a) CO&N b) CO, & H c) CO,&N

e) Answer not known / eflewL e\gflwefleosneo

d) CO&H
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84. Decibel is a unit to measure the

a) Intensity of Radiation b) Intensity of Sound c) Intensity of light
d) Intensity of heat e) Answer not known

ILSlLIed etedTLIg) ——---- 2 JHENMEHGSLD (H HVG DhSLD.

a) sdielisdetr FEMey b) @eds aEniley C) @efle Oy

d) eeliusasmey e) eflenL e\gfweedsmen

85. An example for fossil fuel is

a) Diesel b) Petroleum c) Methane

d) Coal e) Answer not known

LIQLD emflOLINIHEHEHS 6T 61.&IT

a) ieseo b) ewurGrmeSwib C) B&Gg6i
d) Beosa e) efenL e\sflwefleosneo

86. Match the following

A. Octane rating 1. Diesel
B. Cetane rating 2. Methane
C. Simplest hydrocarbon 3. Petrol
D. Peat 4. Bown in colour
E. Lignite 5. First stage coal
OIMHSSIS
A. 9u5CLetT HNIG 1. 1eged
B. &:GLetr 0BG 2. 1558getn
C. eeflw enamGrramiuest 3. 6w Gomed
D. Su 4. uwlyBD O\&TeRTLE
E. eNgemerr 5.  wps6o [Bewev [Beosaifl
A B C D E A B C D E
a) 2 4 5 3 1 b) 4 3 5 1 2
c) 3 1 2 5 4 d 3 5 2 1 4

e) Answer not known / eflenL 6\siflwefleoeneo
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87.

88.

89.

90.

91.

In petroleum refining, the method of separation used is

a) Destructive distillation b) Fractional Distillation

c) Chromatography d) Filter paper e) Answer not known
e Gomedlwl &&B&MLINe0 LweTLGSSILGLD LNf505BSHSE0 (WPEDD ..............

a) demzsE) CusS6 b) Aetrerr smigd eupsseo

C) euetorevorLiifena d) eupssmer e) sflenL a5 fweficoemen
Which one of the following fertilizer has the highest nitrogen content?
a) Super Phosphate of lime b) Calcium Ammonium Nitrate
c) Urea d) Ammonium Sulphate

e) Answer not known

Sp&aTamId 2 Thiseflsd 615 SiBs JieTe| O IRENes: & TeuIBeToTSI?

a) &mebdlwibd ST LmeGLL b) ameodlwb SibGwmesflwid enmrGrL
c) upflwm d) SubGwmesfluib seoGuUL

e) efenL e\gflwefleosneo

The formula of triple super phosphate is

(PLDEMLD GLUILIT LIMeroGLILIQesT eumLILIn®

a) Ca(H,PO,),.H,O b) Ca,(PO,), c) Ca,(PO,),
d) KSO,.2MgSO, e) Answer not known / eflenL \sfiwefleoeneo
What is the percentage of nitrogen in urea?

upfluimefieo _efern emrpL mezevfledr Derey eretrenr?

a) 50% Nitrogen/enmLmezesr b) 46% Nitrogen/eomiresst

c) 80% Nitrogen/enmrmezest d) 90% Nitrogen/enmrmezest

e) Answer not known / eflewL e\sflwefleosneo

Among the following which one is not a biofertilizer?

a) Anabaena b) Nostoc c) Lindane

d) Rhizobium e) Answer not known

etreupeuereumnieo erg) 2 uiifl-2_mib Sieven?

a) SierSeorm b) mnevLms C) 6Netr@Lebr

d) ewpGemwib e) efewL e\sfwefleosneo
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92. Match List | & List Il and select correct answer:

List-I List-1l
A) Etching on glass 1. Zinc carbonate
B) Calico printing 2. Bordeaux mixture
C) Skin ointment 3. Hydrofluoric acid
D) Fungicide 4. Potassium dichromate

uiuied | g2 uitieuied |l 2 1 et QNpgS sfwime eflenLenw CaMHOS®:

uciguied | uciguieo ||
A) setoremg Siflgge0 1. Aks smiuGe
B) &nmediGan SigdBseo 2.  GUMILT&ED Sevemey
C) Gsnev saflby 3.  emam G Leekfls dibdeod
D) sanermmetor e\&mesd 4. eumLrAwb enL&3TmGL

A B C D A B C D
a) 3 4 1 2 b) 1 3 4 2
c) 2 1 3 4 d) 4 2 1 3

e) Answer not known / eflenL 6\gflweficosmen

93. Match List | & Il and select correct answer using the codes given below:

List-I List-1l
A) Bleaching powder 1. Insectiside
B) Plaster of paris 2. Disinfectant
C) DDT 3. Purification of drinking water
D) Potash alum 4. Plastering the fractured bone

upwied | g Liipuied |l 2 et ewmmpsd 6w O\&MTBE&SILLG6TeT GMUIBsHEm6T 6\&T6t® &iluimest
sflemLemw C5IHOS®:

uciguied | uciguieo ||
A) seoemeuggmei 1. LpFdeesTeoed
B) wunisiv enmbal 2. Smuinpndef
C) DDT 3. Gubor gnienoLBSE)se0
D) ewmLneig Ligsmmb 4.  WPpMIbBS 6TEYLDEMLI QL LEWEUSHSH6D
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94.

95.

96.

A B C D A B C D
a1 2 4 3 by 2 4 1 3
03 1 2 4 d 4 3 2 1

e) Answer not known / eflewL e\gflwefleosneo

In the electrical circuit of a house the fuse is used

a) to regulate the current b) to load c) as safety device
d) as step-down device e) Answer not known

6fil" 1960 Ll6tT BeweTTLiL|G6rfl60 LSS 2 (H&S BewL BGIeuTs LTLGSSILBGBDEI?

a) W6l PULEMS RUWMIGLBSSISHEO b) ues C) ungsmiy smei
d) wWeenwss GeODLIL SHmHsi e) efenL Ogwefieosneo

A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then,

the colour of the rock seems to be
a) Violet b) Blue c) Green d) Red
e) Answer not known

@6fl 2 (WL STELMEFLMLES O&TETL @@ Lmewm Ln2arst @eaflwned @eflieflssliu@ans.
SILGUNG), unenmuilett BobTss Csmeimieus)

a) omgn b) Beowd C) usems d) deuliy
e) efenL e\gfwefleosneo

Match the following:

A) Mixed fertilizer 1. DAP
B) Complex fertilizer 2. NPK
C) Bio fertilizer 3. Oil cake

D) Organic nitrogen fertilizer 4. Algae

OUMHSSHIS:
A) seoliy 2_prugein 1 ierd.
B) dAsseonen 2 _pruser 2. e6ir.9.88
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97.

98.

99.

100.

C) e udr o _gruserr 3. eeto6\evorl Gss
D) &l ewmLmezesn 4. undl 2_grise

A B C D A B C D
a) 1 2 3 4 b) 2 1 4 3
c) 3 2 1 4 d 4 3 2 1

e) Answer not known / eflenL 6\5flweficosmen

When was the first Nuclear test conducted in India?

SrSwnefled 66 SHeWIB WPSETAPEDDILITEG N SbU|S CHFTHEMETT BLESLILILLS]?
a) 1998 b) 1999 c) 1974 d) 1975
e) Answer not known / eflenL 6\5flweficosmen

What is the chemical name of sand?

a) Sodium chloride b) Nitric oxide c) Silicon dioxide
d) Sodium oxide e) Answer not known

LevoredledT GeuduTulep EWLIWIIT 6T6dT60T?

a) Gemeuwib GGemenr® b) eomrfs Spsemen®

C) dedsaneir emL Hsemen® d)  Gemouid Shsenen®G e) eflenL asMwelicosneo
The heaviest naturally occuring element is

a) Uranium b) lron c) Aluminium

d) Silicon e) Answer not known

QH SHEOTLDNET, BUINHENSUN6L SHTewrOLMID 2 GeonsLD

a) wGesflub b) &mby C) Slgyuiesfiwid

d) dedsameir e) efenL e\sfwefleosneo

Which statement is correct?

I.  Wholer synthesised organic compound (urea) from an inorganic compound
ammonium cyanate.

Il. Wohler synthesised inorganic compound (urea) from an organic compound
ammonium cyanate.

lll. Wohler synthesised organic compound (urea) from an inorganic compound
ammonium isocyanate.
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gflwnenr eflemLemw GHMHEOS®

l.  Geumeort, upflwm ereirenid &fling B&FMGMS AHbGWwNesflwid FWCETLB eT6dTD Sevflog

G&MpsBe\BHE Swnissm.

Il. Geumeort, upflwim ersirenild &evflng G&MbGHms AHbGWNesflwibd FwBeTL® eTediD Siflog
G&MpsBe\ b Swilssm.

. Geumeort, upflwim eretrenid &iflbg GFibGems AHDGWMeflwD LCFTFWEETL(G 6T6tTD SHevlllng
G&MpsBe\ b Swilssmi.

a) &Il b) &I c) &l

d) | only/wr @b e) Answer not known / eflenL aigflweficosmneo

101. Among the following, which is an organic insecticide?
a) Bordeaux mixture b) D.D.T c) Boric acid
d) Sodium Borate e) Answer not known
etraupeussteunmled 615 &iflb Lys8l5615M6060] LDHHSI?
a) GumLT&e LGS b) g C) Gumfls Sseoid
d) Gemewib GuNGHL e) eflevL e\sfwefleosneo
102. Choose the micronutrient needed for plant growth
a) Oxygen b) Hydrogen c) Nitrogen
d) Zinc e) Answer not known
ST euemisdle@L LIWeTLIBLD HIsrssemns Cabe\s®
a) sedlegedt b) ewamr e C) ewmLIER6H
d) sissHESED e) eflenL e\gflweedsmen
103.The Nutrient Based Subsidy (NBS) policy for fertilizers was implemented in
India in
SBHLneiled 2_IMhisEHSHT6ET Darl'| F55H60T JlgLiLienLulleonent besfluis O\&MeTemns gleurhidul
Sy ®
a) 1966 b) 1977 c) 1991 d) 2010

e) Answer not known / eflewL e\gflwefleosneo

104. The unit of calorific value of fuel is

a) kilo joule per mole b) kilo joule per gram c) kilo joule per kilo gram
d) joule per kilo gram e) Answer not known

THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 75503 52916 | MADURAI 98431 ‘IOSGGE



SURESH’

liIaAS ACADEMY]

@ emfleun e &GeomfibdLifNesr Do

a) &Geom g3%v/BLDmed b) &Geom zgfeo/Bymb C) &£Geom zzfe0/BBe0m Hmib
d) egser/BGeom Somibd e) eflenL e\ fweedsmen
105. is the coal of superior quality.
a) Peat b) Lignite c) Bituminous
d) Anthracite e) Answer not known

ET60TLIS) ©_WINSTLDTE0T [Be0&SIT 616mSUITSLD.

a) Sv b) eS&ement C) N @uilevterv

d) Spmsmemer e) eflenL e\gfweedsmen
106. Explanation of DDT is

a) Dichloro diphenyl trichloro ethane

b) Dimethyl dichloro trichloro ethane

c) Dichloro diphenyl tetrachloro ethane

d) Dichloro diphenyl trichloro ethylene

e) Answer not known

DDT essrugetr efifleungasid

a) eOLGBe@IT enLLilemented lpemn &Gt &GS 60T

b) eOLOWDSHED emL&GBaTnCI 16w GSCermGr &85 60T

C) ewLEGGeMGHT emLLAWeTe0 ELLIM penTSGemmEmm &G 60T

d) ewLE@GemGrm enLLemered @enr GSernCrm egSeSetr

e) eflenL e\5flweficosmen

107. Which of the following chemicals can be used as Rodenticides?

l.  Zinc phosphide Il. Sodium fluoro acetate

[ll. Thallium sulphate IV. Dithio carbamate

a) iandii only b) iii and iv only c) i, ii and iii only
d) i, ii and iv only e) Answer not known

etraugpd GeudLiOmpL s6rfled eTemEuILIEOEONLD 67651 E1&MEVEOLITS: LIWLIGTLIGSMEI?
l.  s88mBIs LTsvEOLIG Il. Gemeuib LiepGom SiGLL
lll. smeSwib seo@uL V. ewLgGwm smuGLL
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a) i whmub ii wLED b) iii wHmb iv rED C) i, i wHmud iii rED
d) i, ii wHmob iV wrED e) eflenL e\gflwesdsmen

108.DDT is an insecticide, which is prepared from
a) Chlorobenzene + Trichloro - acetone
b) Cholorobenzene + Trichloroacetaldehyde
c) Benzene + Trichloroacetone
d) Benzene + Trichloroacetaldehyde
e) Answer not known
DDT eretip Lpgdlsa1&mevedliimeng, Lesreudpld ereumledbbg swimflsasiLGSng)?
a) &CemCuneesiEest + Lenr&SGaTnGm AL GLmedT
b) @GemGomawsnifest + Lewy GCanGom il Lmeoenan®
C) ewender + Lewr&BemmCum Sl GLmedT
d) ewenréeir + LewrGGemnom HALLTEL 1genam®
e) efenL e\gflwefleosneo

109. 2, 4-D is used as
a) Weedicide b) Vitamin c) Fertilizer
d) Insectide e) Answer not known
2, 4-D -etr uwetiun®
a) semens6\smeved) b) eweurLiseir C) o
d) ysdsnsmeosd e) efewL e\gflwefleosneo

110. Bordeaux mixture contains

GUIMTIQUIME 6TV SH606M6Y ETEITLIS] Sp&LD
a) CuSO, + lime/sewrewmby b) ZnSO,+ lime/aewmewmiby
c) HgClL+ lime/sewmewmby d) K,CO,+ lime/seremmibyy

e) Answer not known/sflen. a\gfiwefleoemnen

111.Red ant sting contains

a) acetic acid b) sulphuric acid c) oxalic acid

d) formic acid e) Answer not known
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112.

113.

114.

115.

116.

dleuli eimIbLI6sT O\&TBESB6L SiusleoLd 2_eieng)
a) SdLgs Sideold b) sefuyfs Sseod C) seomedls ideold
d) summds Siudeod e) eflenL e\gfweedsmen

Benzoic acids are used for

a) Food Preservative b) Acids c) Base
d) Salt e) Answer not known

GetTEmUIs Siusleold Sp& LIWeTLGEMS)

a) 2 ewrey LUSLILGSS b) Suseod C) &mg
d) ey e) efenL e\sflwefleosneo

is called as farmer’s best friend.

a) earthworm b) Urea c) Fertilizers
d) Compost e) Answer not known

©_1p66Tl6HT [HETITLIEHT 61601 SHeWLPSSLILIGEUS SHGLD.

a) wesryw b) upflwm C) 2gib

d) esmw 2mb e) efenL e\siflweileosneo

Choose the stronger acid in each of the following pair.

SCL OEBTB&SLILLGsTeT Qeueeunh Czmeuisyd euellemid LG Sisevsmss Coia] OFLILIALD.

i. H,0" or/oieveog H,0 ii.” NH," or/ieveog NH,
iii. HS or/sieeog HS iv. H,0 or/ieeog OH
a) HO", NH' HS,HO b) HONH,HS,OH  ¢) HO', NH_HS, HO

d) HO,NH,, HS, OH e) Answer not known/sflenL a\gfiwefleoemnen
Which one of the following aqueous solutions will have highest pH value?

SpsaeuuiL. [BiTbg sepgFeoseafleo Hhs PH iy 2 emLwig) e1g)?

a) NacCl b) KNO, c) Na,CO, d) ZnCl,
e) Answer not known/sflenL aisflwefisosmen
, and are macronutrients required for plant
growth.
a) Nitrogen, Potassium, sulphur b) Nitrogen, Phosphorous, Potassium

c) Nitrogen, Phosphorous, Oxygen d) Nitrogen, Sulphur, Oxygen

e) Answer not known
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, LDHMILD SpBWenel SreuT e isdsGs C&emneuulTest

GILICHLD [BI600T DaI'L 5 SH6UIILDMRISHET Sh&SLD.

a) ewmLIE6H, QUM LTI, FeoLi b) ewmroessr, umsoumsiy, QLM L Twib
C) emmBLIER6H, LTevLTeD, Sbhsde6s d) ewmLrIe6lT, S60LIT, SpSH6HT

e) efenL e\gflwefleosneo

117. Which of the following is correct:

i) Force = mass x velocity ii) Acceleration = velocity / time
iii) Work = Force x displacement iv) Power = Work / time

a) (i), (ii) and (iii) b) (i), (iii) and (iv) c) (ii), (iii) and (iv)
d) (i), (ii) and (iv) e) Answer not known

SLpeupeuesTeunMled eTeme &l:

i) eflews = Beom x HengGeusd i)  WEEsD = BweGeausid / ST6oLd
iii) Geuemeo = eflews x LLIOLWITESR iv) Smett = Geuswev / simeoLd
a) (i), (ii) wogub (ii) b) i), (i) wpgw> (V) ©) (i, (i) wpgwb (iv)
d) (i), (ii) wbmub (iv) e) eflenL e\5flwesdsmed

118.In an elementary particles there are fundamental reactions
SlpliLienL g)serflev SlQLILIEDL 65l6MEBISH6IT 2_6TETEDT.
a) 4 b) 5 c) 3 d) 2

e) Answer not known /eflewL e\gflwefleosneo
119. A satellite is said to be geosynchronous if that is appearing to
a) escape far away from the earth to infinity
b) orbit opposite to the direction of revolution of earth
c) come down to earth in orbital path
d) remain over a fixed position on the earth
e) Answer not known
L6l R58eng6)] SHlenewursGaTsT 6T60TLIS)
a) yeow eAlL® wpipsileon E\GTEmeoeys:d eABLILGL Gumeug)
b) wleow swHeEs adisdmeuled sipeiin aImeus)
C) wWeow CHIed shm el LTesuleo SIS aumeus)
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SURESH,
d) wWEE Gweons LSS Beweo BmISS LGS
e) eflenL e5flweficoemen

120. The distance travelled by a body is directly proportional to the square of time.
What type of motion this body has

a) Uniform decelerated motion b) Non uniform accelerated motion
c) Uniform accelerated motion d) None of the above

e) Answer not known

@ EWINIHET BS(HLD HMILD @ HSHTUSDS 1S5GS O\SHT6TEBLD CHISS6 S(HLDQWINS (EUTSHSLD)
BHE5GIDCUNEG SiG6T WPBSHSLD 61ES EUENSUIEF CHTHSSI?

a) &mnesr oM WPBEHS BWEHSLD b) &bw wess Sussid
c) Sonew wpB&HS SWISHID d) Gwed safwene ageyb Geoeneo
e) eflenL e5flweficoemen

121.The compound which is called ‘Common salt’ is
QUINGIeUNS 2_LIL| T6eiTMemLPSSLILIBLD GETIDLD 6157
a) NaCl b) CaCl, c) AICI, d) LiCl
e) Answer not known / eflenL 6\5flweficosmen

122.The chemical name of ‘Vinegar’ which is used as preservative is
a) Formic acid b) Acrylic acid c) Acetic acid
d) Maleic acid e) Answer not known
2_euoTeyLl EILIMEBLSEWET E\GLITLDED LNGgsn&@LD ‘ellesflsn’ eretruder Goudlie\wiT erebreor?
a) eunmdlé isleold b) oisfedls Siseold C) idLigs Sisleold
d) weduls Sudeod e) efevL e\sfwefleosneo

123. Fraunhofer’s lines of the solar system are examples of
a) Band emission spectrum b) Line emission spectrum
c) Continuous emission spectrum d) Line absorption spectrum
e) Answer not known
gl Boremeouied _eer LipmetGamLIT CaHTB&6T e15MHES 2 SMIeuorD?
a) uLewmL 2 181hey BpLoTeneo b) Gan® 2 9hey Boiomeneo
C) eLiT 2 1516y BOLDMEmed d) Gen® 2_erafiiiy Bowmemed
e) eflenL e\5flweficosmen
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SURESH
124.The rate of change of angular momentum of a body about a fixed axis of rotation
is directly proportional to

a) mass b) moment of inertia c) inertia
d) torque e) Answer not known
Bemeowinest Heemal LHMI& &Lpad @ eumberflesr Gamewr 2 ke M eigners D&
G eflds5860mHsGLID
a) Beop b) Beweons SmiLS Spsit  C) Beweowid
d) wnses Smaesb e) eflenL e\ fwesdsmen
125. Which of the following are wrong?
1) Na,CO, is used in softening hardwater

) NaHCO, is used for bleaching cotton and linen in textile industry

1)) CaSO41 H,O is used for plastering fractured bones
2

IV) CaOCl, is used in making of baking powder

a) land IV b) Il and IV c) landlll d) llland IV
e) Answer not known

LN63T6UHEUETTEUDMIGT SHEUMITEITEWEN ET6WEU?

1) Na,CO,swenbenr ewpsiresfing wmbmi LweTLESDS!

1) NaHCO,umg8, sdewet giemllaemer QuehéaL LILETUGSDS!

I11) CaSO 4% H,O wpriibs erayibLisems QUL emausaLI LLGTLGSDS)

IV) CaOCl, ewmigs@enin swnilsst LweLGSDE)
a) | wpmd IV b) Il wihmb 1V c) | wihmb Il d) I wpowb 1V
e) efenL e\gflwefleosneo

126. MTI Radar helps to detect
a) Mountains b) Stationary c) Moving targets
d) Buildings e) Answer not known

enbiegz (MTI) grunrt erews seaorELgss 2 seudng ?
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a) LemELSHET b) Beweowneseneuser
d) sLigLruser e) eflenL e\gfweedsmen
127. Match the following

A) Density 1. hg
B) 1gwt 2. Milk
C) Pascal’s law 3. Mass / Volume
D) Pressure exerted by a fluid 4. Pressure
E) Lactometer 5. 980 dyne
OIMHSSIS
A) SLiss . hg
B) 1&8gmb etemL 2. umeo
C) unevseo 6fld 3. Bewn /LBLD6HT
D) umiiob ghuBSsIDd HWSSLD 4. PSsId
E) wunmeownesf 5. 980 ewL6ir

A B C D E A B
a) 5 4 3 2 1 b) 3 5
c) 2 1 3 4 5 d 3 4
e) Answer not known /eflenL 6\5flweficosmen

c) IB&(HLD B60&GES6IT

C D E
4 1 2
1 2 5

128. According to Planck’s distribution law, the energy density at high frequencies

are

a)

d)

zero b) Infinitive

Negative e) Answer not known

c) One

Solerniy LIBiTe)y eflulledr Lig, 2 Wit SiBTe\euetrS6rfled SHMHMED SALMGSufedT DSLILINEIS)

a)

d)

LpZWILD b)  wieeisd

IBILD eT6zor e) dflewL eisfweficoemen

129.The Einstein’s mass-energy relation is

getteivigenfledt [Bemm - SHMHMEL OISTLITLIMEIIS)

a)

e)

E= mc? b) E=mc? c) E=mc

Answer not known / eflenL 6\sfiwefedemed

C) @etimy

d) E=-mc
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130. The escape velocity for the planet mercury is
a) 4.3 km/sec b) 61 km/sec c) 618 km/sec d) 34 km/sec
e) Answer not known
eawiiGf Caneflerr lBLE HemwsGousid
a) 4.3 8.86feome b) 61 &.15/6Meormg c) e18 &.86fleome  d) 34 &.5/6ferme
e) efenL e\gflwefleosneo

131. First law of thermodynamics is expressed as

el uisseliuedei (ps6ed eflBemul 676018 SaLMBOITLD
a) Q=W,-W-, b) Q=(U,-U)+W ¢ Q=(U,-U-)
d Q=U,/U-, e) Answer not known / eflewL e\gflwefisbeneo

132. Nuclear forces are
a) Strongly attractive force
b) Strongly repulsive force
c) Attractive or repulsive depend on nucleons
d) Gravitational forces
e) Answer not known
)55 6fl6ns 616TTLIS)
a) SiBs Jlerefled ATGHS FaleWws)
b) oibs Senefled ey eflewe
C) SEWUGHSD SHIHEDAT LIMIBSS! FTLIL| 6lenFALITEGEUT H60608) GPITLIL| 6flewEUITEHBoUT HemLDUILD
d) yefuSiiy eflens
e) efenL e\sflwefleosneo
133.The instrument used to measure the Solar radiation is called
a) Bolometer b) Thermometer c) Phyroheliometer
d) Spectrometer e) Answer not known
g sdielddlen HienL SHETTLMIW 2 FHEID 2 LIS TEwILD
a) GumeomBLLi b) esmombrim C) eouGTMaelGWmBLLT

d) evewsrGrmbrL e) efenL O\gAweledsneo
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134. The unit of co-efficient of friction
a) Newton (N) b) Joule (J) c) No unit
d) Newton/sec (N/s) e) Answer not known
2 _Muieys GeTTSHSH6EI H60&
a) BuplLedr b) g0 C) Slevg Beveweo
d) Buyreir/efesrme e) efenL e\sfwefeosneo
135. Force of attraction between molecules of the same substance is called

a) adhesive force b) molecular attraction c¢) cohesive force
d) surface energy e) Answer not known

®Cr ewunmeflayeiTer cpev&EIamnHEHHBMLEW 2 6Term FLL 6flens

SNMP&SLILIGSDE|
a) Geandew miL eflens b) epevssamiset rily eflews  C) @er milY eflens
d) wpiy SpHmed e) eflenL e\gfweedsmen

136. Who gave the experimental value of gravitational constant (G) ?
a) Brook Taylor b) Kepler c) Copernicus
d) Cavendish e) Answer not known
yefluliiiy omled (G) ufetr Gengenes SLIHLS SHG6UT Wt ?
a) yems WL uleoM b) esLler C) GamiumBésen
d) Gseueirigsv e) eflenL e\gflweedsmen

137.Einstein’s photoelectric equation was experimentally verified by

a) Milikan’s experiment b) Thomson experiment

c) Stern and Gerlach experiment d) Richardson and Compton experiment

e) Answer not known
gettenviestiletr erfliLiletr eflemertey FeiTLIM 6mL Gangement aufluing BepLisss)
a) Wevedlseir Gengenes b) smbssir Gengenest
C) 6vEILITeT HMID O\&ITeons Gengenesr ) Meages HMID SDL6ST CFMgGemest
e) eflenL e5flweficosmen
138.The unit of gravitational constant (G) is
a) Nm?/kg? b) m3/kg.S? c) m?/kg.S? d) m3/kg?.S?

e) Answer not known
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yefluSiiy onpledl (G) eir Sieoseorg
a) Buyrieir 5%88° b) 15%/8.8. efleormg® ) 157/4.4. efleorme® d) 5%8.8 2 efleorme®
e) efenL e\gflwefleosneo
139. The Hamiltonian operator of a system represents system’s
a) Kinetic energy b) potential energy c) total energy
d) momentum e) Answer not known
@ SlewLifesr GamisleoGLrefluie Swisd GMLLSTeus)

a) Buwss AHmed b) Beweownmbmed C) 6WDNEE ShHMeED
d) e meb e) efevL e\sfwefeosneo

140. Which one of the following is correctly arranged in their increasing order of
reactivity?

81D 2 eemeumnileo Sisubniesr eflenevtsBmett SHieliLienLulled emieurflemaudleo erg) &Filuimeg)?

a) Mg>Al>Ca>Na b) Na>Ca> Mg>Al c) Ca>Al>Mg> Na

d) Na>Ca>Al>Mg e) Answer not known /eflenL aigwiefieosmeo
141.The ratio of Ne and He gases used in He-Ne laser is

He-Ne Geoafled Lwetu@GssUILEGL aumwssefieo Ne wpmib He eumussst abs efldasH60
2 _6iengy.

a) 4:1 b) 10°:1 c) 1:4 d) 1:10°

e) Answer not known / eflewL e\gflwefleosneo

142. A Cathode Ray Oscilloscope (CRO) is used to measure __ of a signal
a) voltage b) frequency c) phase
d) all the above e) Answer not known
admslesr eumis s&T Siewevey e (CRO) @nlengswaulss 2 Jlenés LweTLESDE)
a) WeiTesTPESLD b) Sigreeuesor C) &L Gamewib
d) GumhaesorL wmeyb e) efevL e\sflwefleosneo

143. When the frequency of an electromagnetic wave and ultrasonic wave are same,
then

a) their wavelengths should be same

b) wavelength of electromagnetic wave will be more
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c) wavelength of ultrasonic wave will be more

d) wavelength of electromagnetic wave will be less

e) Answer not known

Beiranbs JHeweoulssr JSreusimamd Wawmed Seneoullelt AHSiOeueTTEMID RETMTS
BH&HGLEUNE)

a) QuewT® Sieneouleir HHEOBETLD FLDDTGLD

b) Wetranhs Seweoulesr SeneoBerd HBETS GHHGLD

C) Bowned Sieneoullest SeneoBerTd HBSHOMES GHHGLD

d) Wetenbs Sleneouler SEnEOB6D GmDaITE: BHSSLD

e) eflenL e5flweficoemen

144. Match the following

A. Osmium 1. Best conductor of electricity
B. Lithium 2. Heaviest metal
C. Tungsten 3. Lightest metal
D. Silver 4.  Highest melting point - 3300°C
LS55
A. Speviduib 1 Anbs BesLsS
B. edsdwib 2. &8 sevbmest 2 Geomsid
C. LmusoLedr 3. 198 @Ceo&mesr 2_G60m&HLD
D. deveurt 4. Sids 2 meBemeo - 3300°C
A B C D A B C D
a) 1 2 3 4 b) 2 1 4 3
c) 2 3 4 1 d 3 4 1 2

e) Answer not known / eflenL 6\5flweficosmen

145. Which one of the following metal is not present in steel?
a) Cr - Chromium b) Ni - Nickel c) V - Vanadium
d) Zn - Zinc e) Answer not known

m THOOTHUKUDI 99445 11344 | TIRUNELVELI 98942 41422 | RAMANATHAPURAM 75503 52916 | MADURAI 98431 10566



61&6M60 @LLD ILIMNE 2 Geon&Ld 615)?
a) Cr - @Grmswb b) Ni- B&seo c) V - GaGmiguib
d) Zn - s e) eflenL e\gfweedsmen

146.The mean value of the solar constant is
a) 1.23 joule/minute b) 2.3 cal/cm?/minute c) 7.63 cal/min
d) 6.023 cal/sec e) Answer not known
gflw mpieSlufledr srmel LS|

a) 1.23 greo/BsLID b) 2.3 sGeonfl/ Q& 5%B0Lb C) 7.63 &GeomBLLD
d) 6.023 &Geon/sfimme e) efenL e\gflwefleosneo

147.Big liquid drops are not spherical due to
a) viscosity b) surface tension
c) atmospheric pressure d) gravitational force e) Answer not known
@ owrflw Biggiefl Gamer auigsiled SlemLbaude0eme, SHTTEwTD

a) uneBmed b) umiy Swslens C) euafletor e SHWE&SLD
d) yefmiiy eflens e) eflenL e\gflwesdsmen

148.The equivalent unit of volt/meter is

a) Newton - Coulomb b) Newton - Coulomb? c) Newton / Coulomb
d) Newton/Coulomb? e) Answer not known

GeumeoL /DI LIT &@&& FLDLDITETT H60S

a) BuylLer - saeqb b) BuyrLe - sasymb? C) BuylL6br/Enend
d) Buyreir/sasymb e) efenL e\sfwefleosneo

149. In the alumino thermic process the role of Al is
a) oxidizing agent b) reducing agent
c) hydrogenating agent d) sulphurising agent e) Answer not known
SigquiGeutm SeuLILl eflementuiied, SigyLfievfluisHetr LM

a) SpsadmGerhm b)  sedigeit GsS C) emamLrmGsrh
d) seoum g e) eflenL e\gfwesdsmen

150. The gas present in the pores of soft finely stratified sedimentary rock is
a) Shale gas b) Gobar gas c) Water gas

d) Oxygen gas e) Answer not known
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SURESH’

liIaAS ACADEMY]

GILDEITEMLDULITEDT 6UETITL6D LITemM AHB&EGS6rfletr glemenserfleo 2 ear eumuiefler LI er6dTenT?
a) Geged eumy b) Gsmui eumy C) B eumy
d) Susdxetn eumy e) efenL e\sfwefleosneo

151. One nautical mile is
R [HTLIRSHSHE0 T6OTLIS)
a) 1.852m b) 1.852 km c) 1.825km d) 1.582 km
e) Answer not known /  eflen. aisflweficosmen

152.The process of coating the surface of metal with a thin layer of zinc is

called_ _
a) painting b) thinning c) galvanization
d) electroplating e) Answer not known

6)D6LEOIWI LIL 60LDNTS FISSBTa Ligemey, Lm 2 GeonassHe g erbUGSSID Bape)

eT6oTLILI(BLD.
a) eufewTD Ly&ig60 b) éwevedlw C) MBUEEPEONLD LY,&i560
d) Sedrepeommb LyEge0 e) efevL e\sflwefleosneo

153. Assertion : Magnesium is used to protect steel from rusting
Reason : Magnesium is more reactive than iron
a) A and R are correct, R explains the A.
b) Ais correct, R is wrong.
c) Ais wrong, Ris correct.
d) A and R are correct, R doesn’t explains A.
e) Answer not known
sabhm): OIsefHWISms L6 L5g) Lpsausmed, iS50 mhg LNgIsnssULBGSDE.
SMIevOTLD: E\LD&estluId, GHLbemLeilL eflenerr b SHetTemipLilsg)
a) eammib, STIEIWLD FAWTENS), STTEID Sahenm HETE (N6MTEHSEDG.
b) eapmy &M, smgewd seum)
C) &abm seuml, Snesrb &
d) eabmib smgemiepb &M, SyeTTed SHMTEWID Fahenm efleulsaeMsome.
e) eflenL e5flweficosmen
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154. When a detergent is added to water, the surface tension of the solution will
a) decrease b) increase c) remain unchanged
d) increase (or) decrease depending on the nature of detergent
e) Answer not known
W5 BEGLD siseTas [Hifled sevsaslL@ Gung), Bl Ly Swellens
a) &onéns b) Sigsfedng C) wmhmLIedEmeD
d) asetsefe Sr5Hm8 OLMTMISE HSSLDTSHEOMD 6060 GEHDUIEOTLD
e) efenL e\sflwefleosneo
155. The slope of the speed-time graph gives
a) Speed b) Acceleration c) Distance
d) Displacement e) Answer not known
GeusLD - SHT6VLD CUEMILILSHET &6y DSLINWens SHBDS
a) Geuswd b) wGsswD C) 6seneosy
d) @ueuwisd e)  eflenL e\sflwefeosneo

156. Which one of the following element is not used in the manufacture of defence

equipments?

a) Titanium b) Zirconium c) Sodium

d) Manganese e) Answer not known

LITGISTUILIDSTET LIEHLSSHE063T56MET 2 (oS LILIGTLIBLD 2 G6onsHiD Si6060ns5) 6187
a) ewLrGLesflwib b) ediGsmesfiwibd C) Gsmeuib

d) wrmusests e) efevL e\sflwefleosneo

157. Match the following:

A. CuSO,.5H,0 1. Lunar caustic

B. ZnCO, 2. Philosopher’s wool
C. AgNO, 3. Blue vitroil

D. ZnO 4. Calamine vitriol
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SURESH’

liIaAS ACADEMY]

OLINmSSIS:
A. CuSO,.5H.,0 1. QQTEDTITIT ST60IRd
B. ZnCO, 2. 9GermELIT 2_60
C. AgNO, 3. udled IGHLD
D. ZnO 4. STE0EnLDEDT

A B C D A B C D
a) 3 1 2 4 b) 3 2 1 4
c) 3 1 4 2 d 3 4 1 2

e) Answer not known / eflenL 6\5flweficosmen
158. The quantity which is not conserved in inelastic collision is
a) kinetic energy and linear momentum
b) kinetic energy
c) linear momentum
d) both kinetic energy and angular momentum
e) Answer not known
Letteugpeustreummled i Sluflebeor GLomgedled 618 FLODMS SHHSHTS] ?
a) Bwss JpHME HMID CBIT 2 Hsid b) 8wss SpHmed
C) Gmi 2 fhaib d) @ués SpHmed HYILD &iped 2 HsLb
e) eflenL e5flweficosmed

159. The work done by a conservative force on a particle moving between any two
points

a) is dependent on the path of the particle

b) is dependent of the path of the particle

c) does not depend on the force acting

d) depends on the initials and final points

e) Answer not known

R GlSHen6T Bevor® LieTerflsEnsd SemLGW HsIT55 Jiblefleienid sflens A& uILLD Geusmeouneas)
a) EWUMGBET BEHHD LMEDSOWE FTHSS

b) ewunmeT BEEGD LTEOSEDWE STHSSHE060
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C) 6FwWed EllenFMWIE SITTHSSE060
d) esnLsés whmib wieey Lstelaemens sikEss)
e) efenL e\gflwefleosneo

160. By what amount will the clock fixed at the earth’s equator run slower than an
identical clock fixed at the poles?

LSS Cremsuiled maISSLILILIRIHSHSID SHIQSHMILD, HI(HEUMHISETED NEUSSLILILRIHSSID HESH
GUNETTD SHIREMTSEMS 6L ETHSHEMET 66 EIDG6UNs RBLD?

a) 10" sec/efimme b) 107 sec/efimme c) 107 sec/efimme
d) 1072 sec/efimme e) Answer not known / eflen. aisflwefisosmen

161.If the mass of a planet is reduced to half, the satellite revolving around it
would

a) continue to revolve at the same speed
b) fall freely on the planet
c) escape from the planet
d) orbit the planet at a reduced speed
e) Answer not known
GameiT etTnilest [Bemm LMSWINSS GSeWMWLD CLING), SHEWEUE SHHMILD SI6060TE:CHT6IT
a) 9By CeuansHeo SHPEITM) E\HTEIUTIYHEGLD
b) ks Caneflstr B eflwmbe 6AEW
C) Ganefletr NipuedmBHa eNELEGLD
d) GonkEs Caussse Ganemens &hHM SN OSMEIITYHSSLD
e) efenL e\sflwefleosneo
162. Light waves possess
a) particle nature b) wave nature
c) both particle and wave nature d) electricfield and magnetic field
e) Answer not known
6rfl Slemeo 6T6tTLIS
a) gIB6T SO EOLWIS)
b) Siemeo GueoyemLwg
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163.

C) &iS6T HYID SiEHeo SpBW GIeTTB GUIEOLID 2_6DLIS)

d) &nmmbsliyeod WHmID eI 2 6mLwig)

e) eflenL e5flweficosmen

Shot noise is

a) Noise generated in resistive elements

b) Noise created by uneven streams of Electron flow

c) Noise generated by minute current flow in diodes
d) Noise created by even streams of electrons

e) Answer not known

616G 60T(B BeMTFEFEO 6T60TLIS)

a) ETHEDL FamISHETTEd O (HEUTGLD SEDISFE0

b) eevsLpmetisafis @umishn GULES6TTE 2 HENGD QEOIFEF6D
C) LGwmgsd LB SMDHS 6Ty LeTGeTTL L& 60160 eIMLIBLD BewI&FF60
d) eeosLImEtTEEM6NT @UpruGTEDT PLLSPH6uTTe0 eTDLIBLD ewI&F56D

e) eflenL e5flweficosmen

164. When a wire is stretched, the potential energy of its molecules

165.

a) increases b) decreases c) remain same
d) changes randomly e) Answer not known

@@ &L BLél SewLwd G , SiG6dT [Bemeombmed

a) Sigswneb b) &emwb C) wmHob Geveneo
d) @uméLbn wmbhmb e) eflenL e\gfweedsmen

The net work done by the forces acting on a body is equal to the change in its
a) Kinetic energy b) Potential energy

c) Kinetic energy and potential energy d) Momentum

e) Answer not known

K eWumerlstt OFWEOLIGLD eflemasmemed OFLIWLILGLD Bar Ceuemed Aigeir SLpsaerL Listorilsd
gHUGLD MHDSBDHSE FLOLD

a) Qwss SpHmed b) Beweownbmed

C) Bw&s AHmed HMID BeeowmHHeo d) 2 mswb

e) eflenL e5flweficosmen
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166. The mean distance of the sun from the earth is known as
a) Astronomical unit b) Amstrong unit c) Mach unit
d) Fermi e) Answer not known
&fwens@LD L&D SenLCw 2_sitar sOms 615memeve) 6T6UEIMN] HMPSSILIGEDS! ?
a) eunesfluied DieoS b) s gnm Seos C) s DS
d) sewms e) efenL e\sfwefleosneo

167.The portion of incident radiation reflected back to space from the planet is

called
a) Atmospheric windows b) Albedo c) Rayleigh scattering
d) Law of scattering e) Answer not known

sflws sdieisdler @b ueS NTduefilifen epeob sferaiauafisg SHULN SiepiLLILGeG
Seranm SHewpsSLILGSDS
a) euefletorLed FettevtevdmeT b))  DevawGLE C) onGev Refle Agmeo
d) eefe dsped 6fld e) eflenL e\gflweisdsmen
168. The time of reverberation of a hall can decreased by
a) having a number of loud speakers
b) opening all windows and doors
c) closing all windows and doors
d) speaking loudly
e) Answer not known
1 SHemmuilev e1ST (WPW&ES CHISMSS GMDLILSHES
a) Oids ecturenfgmauieo @6l 1LIHSHSHEET LWLIGHTLIGESS60MD
b) 6060 g26tT6TTED BFHEUHEWET EMIHGI HEUES GEUCTIT(BLD
C) 61660 FREITETED HSEUHENE eLPlY EDEUSHS GEUETITBLD
d) egsons Gus GeueriBLD
e) efenL e\gflwefleosneo
169. How the chemical fertilizers can be avoided in agriculture?
I.  Drip irrigation [l. Cultivation of oil seeds

[1l. Cultivation of cereals IV. Bio-fertilisers
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a) llland IV b)
d) All of the above e)

IV only c) lland lll

Answer not known
Geuermevremibuiieo ereeumm) Goud 2 prusemen Heflii&ee0mb?

l.  e&m @ Biunseod . erevoreremon) eflGg Fn@Lie
. Smy srevfiw en@Lg V. 2 ufir 2 _praiseir

a) Il wpob IV b) IV br@b c) Il wpmibd Il

d) GuhseBlu Semeggd €) efenL OFfwelicoemen

170. Match List | with List Il correctly and select your answer using the codes given
below:
List | List 1l
A. Astronomical unit 1. motion of objects
B. Newton 2. distance between the earth and sun
C. Galileo 3. distance travelled by light
D. Light year 4. law of gravitation
auflens | 2 Letr euflens || & OuMmss &6 STLLLGeTeT OBTGLILNeN®HE Frlwime eflenLemw
6sifley OFws.
auflens | auflens ||
A. eaefled Seog 1. eunmenaefleir QuisasLd
B. BuprLed 2. yelsab &fues@LD 2 616 65 menevey
C. &69601Gwim 3. gafl sL&EGD 615memeve)
D. oefl Ope01® 4. mmiy efld
A B C D A B C D
a) 1 3 2 4 b) 2 4
g2 1 3 4 d 3 2 4 1
e) Answer not known / eflenL 6\gflweficosmen
171.The reason for expressing audio power amplification in dB unit is
a) our ear response b) easy calculation
c) no other unit d) to honour Graham Bel e) Answer not known

60 SpHMED EILIHEBUTET DH6vG EILFILIED 6165TM)] GSMILILIGDSTET SHITTEWILD 6T65T60T?
a) mbwpeLW C\Feflujeuoriey b) eefidedr seworsd wppuib
C) Geoum 6TbES SIS BE06D60 d) &psmb eLer-emed SamEAlILGHETS

e) eflenL e5flweficosmen
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172. Match the following:

A. Atom 1. building block of matter
B. Element 2. atoms of different kinds
C. Compound 3. atoms of the same kind
D. Molecule 4. smallest unit of a substance
OMHSSIS
A. Siem) 1. uueungmenseflesr SLUBLMeT HeuG
B. sesflobd 2. ueGaum) 6UENE G SHSHET
C. @& 3. QT eI SN HSH6T
D. cpevsaam 4. uueunmefletr WasEAnw e
A B C D A B C D
a) 2 1 4 3 b) 1 3 2 4
c) 1 4 2 3 d 2 4 3 1

e) Answer not known / eflewL e\gflwefleosneo
173.The downloading speed of 5G enabled network is about
a) 2000 mbs b) 3000 gigabit per second
c) 20 gigabit per second d) 200 gigabit per second e) Answer not known
5G gy euemed LBefinEs GeusLomes)

a) 2000 mbs b) 3000 famir / efmme

c) 20 amir / efimme d) 200 gfami / efmme e) efenL Ogfwefieosneo
174. When detergent is mixed with water, the dirt from clothes is easily removed.

This is due to

a) Pressure b) Viscosity c) Surface tension

d) Force e) Answer not known

BapL6dT fNg) FEOMEUSHTOT H60IhG| HlEWOUSHSTEO, FHEwlluNed HLW&S eTerfded AHaHMLILIGLD BbS

LIWIED)I&E STIE0OTLD

a) SwssLb b) urdweo C) umiy Swsllens
d) eflews e) eflenL e\sfwefleosneo
175.The value of acceleration due to gravity from equator to the pole
a) Increases b) Decreases c) Constant
d) Zero e) Answer not known

Lefl rilfest pBssLD BeomG&EHTGL LGSserledmha Sihau LgHserleo
a) s@WD b) &epwbd C) wrprg
d) yeefwbd e) eflenL egflweledsmen
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176.

177.

178.

179.

180.

Aptitude (25)

A hemispherical tank of radius 1.75 m is full of water. it is connected with a
pipe which empties the tank at the rate of 7 litres per second. How much time
will it take to empty the tank completely? (approximately in minutes)

OO 1.75 15 2 6iTen @i SiewpGsmen eugaus; OGNl wpHMeyId Bomed BrliliLGeiTeng). @
&prmulles epeold eflBMesS 7 eOlLLiT elisd OGTLpuislmng BT QeueflGuwbmLliLI@LmesTeD,
QBT IgEnW eT6u6uaTeY CrEISH60 (UGS SMedl S\Fwiwieond? (Bl miserfle)

a) 27 b) 26 ) 72 d) 62
e) Answer not known / eflenL 6\5flweficosmen

Curved surface area of a solid sphere is 36 cm?. If the sphere is divided into two
hemisphere then total surface area of one of its hemisphere is (in cm?)

R SLECHMENSS6HT sumeT LTI 36 618.15° Diseme Qb HewrsGaTaTmaas Nfssme, @
DenI&CaHMaTSHetT OUDNSSHLILIL eT6dtent? Er&.L5% - 60)

a) 9 b) 12 c) 18 d) 27
e) Answer not known / eflenL 6\5flwefieosmen

If Vis the volume of the cone of radius r and \2 is the volume of the cone when
the radius is double then

FalDLN6tT DLTD I' 6T6aTMITEd iG6iT HevT Di6rey V Dp@LD. FalbLieir DyI56ns RIL LSS0 HSHE0T
STSieTe V. Sh@&LD. SieueumeynesTmiTed

a) V=4V, b) V=2V, c) V=2V d) vV, =4V
e) Answer not known /eflenL 6\5flweficosmen

Base area of the right circular cylinder is 30 sq.cm and its height is 6 cm then
the volume of the cylinder is (in cu.cm)

@@ GBI au'L 2 hewemulesr Sieliglil] 30 61&.15 HMID SiGetT 2 wigd 6 61&.L5 erevlled g etr
SEUTeTEY] WIMEI? G6or Slerefled)

a) 60 b) 90 c) 120 d) 180
e) Answer not known / eflenL 6\gflweficosmen

The surface area of the two different spheres are in the ratio of 9:25 then their
volumes are in ratio
Srevor® GaumurL Ca el & erfledt euem e TL1L| 8 6rfl 66T efl8s1D

9 : 25 Sleubmletr Heor Aereyseflesr efldgid
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SURCIE

a) 8:625 b) 729 :15625 c) 27:75 d) 27:125
e) Answer not known / eflewL e\gflwefleosneo

181. A cone of height 7 cm and base radius 3 cm is carved a from a rectangular block
of wood 10 cm x 5 cm x 2 cm. The percentage of wood wasted is

10 61&.15 x 5 Q18.15 x 2 61&.15 SlerTe) O1&T6TITL 6\F6u6us: 6ulgel LDILILIden&UNOBHS 7 61&.L5 2 wigib
3 018.15 Sp1ILb E\&METIL FalbL| 16Ul T(BSHS OFUIILILGBDE| 61651160, 616,56M60T F&61iGLD DTS SHL- 6L

efievoTTGLD.
a) 34% b) 46% c) 54% d) 66%

e) Answer not known / eflewL e\gflwefleosneo

182.If the volume of the solid sphere 7241; cubic cm., find its radius.(in cm)

Qb Sevvip CamensHeit sHewr Jierrey 7241 % 5.61&.15 er6ufled DiG6iT DpTHEWS BTevuTs. @115 - 60)
a) 13 b) 10 c) 11 d) 12
e) Answer not known / eflenL e\siflwefleveneo

183.The sum of the length, breadth and depth of a cuboid is 19cm and its diagonal
is 5\/5 cm. its total surface are is (in cm?)
R H6EU 61F6UEUBHHENT [HENTLD, DiB60LD LDHMILD SHLPLD Db Bwieunmleir Fa B0 19618 L5 GLDEYILD Dig6tT
epemen 6fl-L g6t e 5 /5 61615 erelled Sigett OWbNESLI LITLILY er6iTLIZ) (618157 - 60)
a) 361 b) 125 c) 236 d) 486
e) Answer not known / eflewL e\gflwefleosneo

184.The length, breadth and height of a cuboid are in the ratio 7 : 5: 2. Its volume
is 35840 cm?® Find its dimensions. (cm, cm, cm)

R HEMECIF6UUSHSH6T [B6ITLD, S1860LD LDHMILD & WIT5S6iT 6MBFHLD 7 : 5 : 2 616018, G605 SHEvT 66
35840 616.15° aicfled DiF6iT LSS leTaysHeners &ewrs. (618.5, 618.15, 618.15)

a) 56,40,16  b) 40,17, 19 c) 48, 32,16 d) 54, 45, 34

e) Answer not known / eflewL e\gflwefleosneo
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185.

186.

187.

188.

189.

190.

The ratio of heights of two cylinders of equal volumes is 1 : 3 then the ratio of
their radii will be

Breni(® 2_Hevenseafleir &b sevrdieney 2_eTar 2_winrhigerflei 6B 1: 3 erevfled SigetT Sprhigeriledt

6flBSLD et6dT60T?

a) 4:.3 b) 3:24/3 ) 2:43 d) 3:.3

e) Answer not known / eflenL 6\5flweficosmen

If the diameter of sphere is doubled , the increase in its surface area will be
(B CHMeNGH6tT AL LD G([H LOLRISTSEMG) 6760160 SHGH63T LDLILTLIL| 618560607 F&561SHLD HHSMEHESLD?
a) 100% b) 200% c) 300% d) 400%

e) Answer not known / eflenL 6\5flweficosmen

Find the volume of cube whose side is 10 cm.(in cm?)

10 61&.15 LI&:& DleTeysiTen H6018 FHTSIHET HEMOTEN6US SHT6vurs:. (1&.15°)

a) 1100 b) 1200 c) 1050 d) 1000

e) Answer not known / eflenL 6\gflweficosmen

Find the area of the iron sheet required to prepare a cone 24 cm high with
base radius 7 cm ( in cm?)

24 6&.15 2 WD, DlQLISS DI 7 61&.15 6\&MewL dalbL| Swiflés CHeneuuinest SpLDL| SHaL Q65T
ugliy @&.15 - 60)

a) 704 b) 702 c) 700 d) 668

e) Answer not known /eflenL 615flweficosmen

Find the volume of a cube whose side 5 cm.

a) 100 cm?3 b) 110 cm? c) 125cm? d) 105 cm?

e) Answer not known

5 61&.15 LI&& SierTe) E\HMTEWIL HEVE FHTHBEI HET 66 HITEH0TS.

a) 100 &.618.18 b) 110 &.605.15 C) 125 &.65.8 d) 105 &.65.8

e) eflenL e5flweficoemen

Find the approximate length of the longest pole that can be put in a room 10m
x8m x 5m. (in m)

105 x 815 x 5.5 Semeyeitem @b Siewpuied eneusELILIBLD W& Hermomen Camedett emeurena)
@znomuwna) (BrLfed)

a) 15.25 b) 13.75 c) 14.35 d) 12.55

e) Answer not known / eflenL 6\5flweficosmen
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SURESH
191.If the surface areas of two spheres are in the ratio of 4 : 25 then the ratio of
their volume is

8w Canenmmuserflett LTLIL| AlBSID 4 : 25 el6vfled, DF65T H6vT DerTey 6ABFLD
a) 4:25 b) 25:4 c) 125:8 d)8:125
e) Answer not known / eflewL e\gflwefleosneo

192.If radius of one sphere is half of radius of another sphere then their volumes
are in the ratio
M CamensSett SpIDMENTSH WHODTH CanarsHenn SpuH5H60 LTS erevfled Seummledr &eor
Sleneyserflett eflBHLDMETTS)
a) 1:2 b) 2:1 c) 1:8 d) 8:1
e) Answer not known / eflewL e\gflwefleosneo

193.If the diameter and height of a right circular cone are respectively 12cm and
8cm. Then its slant height is (in cm)
GrBIT 6L L& FaLbLA6dT 65 L LD LDHMLD 2 wigLd wpewmBW 126185 ohmiLd 86)&.L5 eTevfled Digett Fmujuimd
ereoTLg)? @\&. 151 Lflev)
a) 10 b) 20 c) 30 d) 96
e) Answer not known / eflewL e\sflwefleosneo

194.The base and height of a cylinder and cone are the same. The volume of the
cylinder is £ cm®. The volume of cone is
SlQPLISSHAPLD 2 WIIPLD, & ([HEN6IT LDMMILD SalbLil6d FLDLDMS 2 6iTerrent. & (hHenerullesr seor Slermey L
cm3erevfled galbLieir sevT ey

3

) Lrem? b) lrem ) Lrem d) 3
a) 3 J 3 xem

e) Answer not known / eflewL e\sflwefleosneo

195. A cone of height 24 cm is made up of modeling clay. A child reshapes it in the
form of a cylinder of same radius as cone. Find the height of a cylinder ( in cm)
S6fIDETITE\&HTeTT(B OFWILILILILL 24 61&.15 2 WITLPETeT (h FalDedL! §(h GLHENS HECSH DpILpeTeT
I 2_mHewemuns mHnIEmE) eresfed 2 menemulsst 2 wimib smewrs (616.15 - 60)
a) 42 b) 48 c) 8 d) 21
e) Answer not known / eflewL e\gflwefleosneo

196. A cone and a cylinder have the same base area and the same curved surface

area. If the height of the cylinder is 2.5 m and radius of the cone is 3 m, then

find the volume of the cone ( in m3)
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SURESH’

@b SalDLLD, @ 2 (HeweTb GCT SHeUILTUIL|D QGCT 6UemETUILILILD 6\&T6uTLen6. 2 ([Henerudlest
2 wigb 2.5 15 whmd Falblesr ST 315 erevlled alblletr HevrDisney smevorss. (L5° - 60)

a) 15 tm? b) 12 tm3 c) 36 tm? d) 75 tm?
e) Answer not known / eflenL 6\5flweficosmen

197.The total surface area of a solid right circular cylinder is 231 cm?. Its curved
surface area is two thirds of the total surface area. Find the radius and height
of the cylinder.

K Sevord Criia’L 2 heweaTuled WSS Upliugliy 231 &.68.15 Digeir euemerUILiL| 61DNES
YoLLgLied epestmled @ewr® LiMi@ 6T6vfled iH65T SHILD LDMHMID 2 WITHENSHE SHT60s.

a) r=3.5cm,h=7cm b) r=3.2cm,h=7cm

c) r=35cm,h=6cm d) r=3.2cm,h=6cm

e) Answer not known / eflenL 6\5flweficosmen

198. If the length breadth and height of a cuboid are 2m, 2m and 1 m respectively,
then its surface area is (in m?)

215, 2 15 hmib 115 SpBwieunenn wpedmBW! [B6IT, B0 2_WITTRISETTES 2_6DLUI SH6UT 6)F6U6USSH60T
eeuefliliugliy 6 6v)

a) 8 b) 12 c) 16 d) 24
e) Answer not known / eflenL 6\5flweficosmen

199. A brick measures 20 cm x 10cm x7.5 cm. How many bricks will be required for a
wall 20m x2 mx 0.75 m?

QH 6\FMmIGHEN6HT Slemey 20 61&.15 X10 01g.15 X 7.5 €1&.15 ertevfled 20 15 X 2 15 X 0.75 L5 etedrm

Slerteflled 2_siTer G6UMIS SLL CHemeuLILIBLD )& MmISHE0I6T 6T600T6001156m8:.
a) 10,000 b) 15,000 c) 20,000 d) 25,000
e) Answer not known / eflenL 6\5flweficosmen

200.The Lateral Surface area and Total Surface area of the cube having side 24cm
are respectively.

a) 3204 cm?, 4365 cm? b) 4302 cm? 6534 cm? c¢) 2304 cm?, 3456 cm?
d) 2340 cm?, 5634 cm? e) Answer not known

Lss Aerey 246&.15 2 LW @ SHeuFHITSHei YoLLTLL WOHMID QWIS LUTLIL eeiTLg
wemmGul

a) 3204 es.1f? 4365 65152 b)) 4302 65152 6534 68152  C) 2304 6517, 3456 6.5
d) 2340 6.5 5634 6&.5° €) eflewL OGMweledsneo
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